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Question Number : 1 Question Id : 21052912881 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The angular speed of the earth such that the bodies lying on the equator may appear
weightless is

(R=radius of Earth and g=acceleration due to gravity)

1. [

f2g,
2,1 In
e
q
3. J f2r

(3
4. 39/,

Options :

21052950801. 1
21052950802. 2
21052950803. 3
21052950804. 4

Question Number : 1 Question Id : 21052912881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g &) Ivfig 1, forg W yHeEwd )R uifid fis 4ReH udid 81, & -
(R = Tl B A1 IUT g = ¥ - @R0)

Options :

21052950801. 1
21052950802. 2
21052950803. 3
21052950804. 4

Question Number : 2 Question Id : 21052912882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Two vectors 4 and B are acting at an angle 8, on an object. If the magnitude of their vector

product is /3 times their scalar product, the angle 6 between them is

1. 30°
2. 45°
3. 60°
4. 90°

Options :

21052950805. 1
21052950806. 2
21052950807. 3
21052950808. 4

Question Number : 2 Question Id : 21052912882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
¢l Ofex 4 a1 7 il fis IR oI §991d §U BRI & | 3R 3 Sl oHb ol GRHAT
3Hd e UHGE B 3 0N 8, T4 34 GlHl & §id BT § DIV a1 BTN

1. 30°
2. 45°
3. 60°
4. 90°

Options :

21052950805. 1
21052950806. 2
21052950807. 3
21052950808. 4

Question Number : 3 Question Id : 21052912883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A constant force F given F = 2i — j+ 5k N acts on a body to move it along x-axis. The work

done by the body to move it by 2m along x-axis will be:

1.12)
2.16J
3.0J
4.4

Options :
210529508009. 1
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21052950810. 2
21052950811. 3
21052950812. 4

Question Number : 3 Question Id : 21052912883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U FOd 9 F (B F = 21— j + skn 8) Tohdl fiSs R 3W x - 3@ &1 3R @ 9H & g Sk B
3 x - 38 P 3R 2m T IH & fou 39 fis gr1 fovar a1 o fasa=n g

1.12
2.16J
3.0
4.4)

Options :

21052950809. 1
21052950810. 2
21052950811. 3
21052950812. 4

Question Number : 4 Question Id : 21052912884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A ball of mass 5g is thrown downward from point A with certain initial velocity Vg towards a
hard floor. Without any loss of energy it rebounds from the floor at point 10m above the
original level. Thus, the initial velocity Vg of the ball is

1. 10 m/s
2. 50 m/s
3. 14 m/s
4,28 m/s

Options :

21052950813. 1
21052950814. 2
21052950815. 3
21052950816. 4

Question Number : 4 Question Id : 21052912884 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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5 ZegHI dIch U 7Nid @I f6g A § Aid @ 3R URMYS 971 v, 9 $oR Yde IR bl oidl 8| famr
fordt Srorl @1 &f & 98 el 39 Yde § U fdg W ol RS Tde ¥ 10m DI g3 IR & Uldaiid
gid1 8| 98 39 Td &1 URY® 371 v, faed1 82

1. 10 m/s
2. 50 m/s
3. 14 m/s
4,28 m/s

Options :

21052950813. 1
21052950814. 2
21052950815. 3
21052950816. 4

Question Number : 5 Question Id : 21052912885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A wire of uniform cross-section is cut into three pieces, such that length of next piece is three
times the previous one, If resistance of the smallest piece is 3Q), the resistance of the original
wire will be?

1.9Q

2. 27Q
3. 30Q
4. 39Q

Options :

21052950817. 1
21052950818. 2
21052950819. 3
21052950820. 4

Question Number : 5 Question Id : 21052912885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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UHHHH AU UG 91d Udh dR &) diF Shel H 39 die 4 PIel I1dl ¢ [P GuR s DI
TS [USd che @1 o 01 8l | 3FR Ja4 Bic Ths B UiokiY 3Q 8, 76 URIHS dR @1 UfjiY
&1 BRI

1.9Q

2. 27Q2
3. 30Q
4, 390

Options :

21052950817. 1
21052950818. 2
21052950819. 3
21052950820. 4

Question Number : 6 Question Id : 21052912886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Food articles are to be kept in a refrigerator at a temperature of 12°C. If room temperature is
42°C, then what will be the coefficient of performance of the refrigerator?

1.12/30
2. 10/95
3.95/10
4.12/54

Options :

21052950821. 1
21052950822. 2
21052950823. 3
21052950824. 4

Question Number : 6 Question Id : 21052912886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@re] Yoyl & u=iifaa & 12°C o9 O 3@ 74T © | 3R & dI9HH 42°C & d9 uEiifag &1
fsaTe T @ g

1.12/30
2. 10/95
3. 95/10
4.12/54

Options :
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21052950821. 1
21052950822. 2
21052950823. 3
21052950824. 4

Question Number : 7 Question Id : 21052912887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A battery gives a current of 0.5A when connected across an external resistor of resistance 120
and a current of 0.25A when connected across an external resistor of resistance 30Q. What will
be the emf of the battery?

1.45V
2.90V
3135V
4180V

Options :

21052950825. 1
21052950826. 2
21052950827. 3
21052950828. 4

Question Number : 7 Question Id : 21052912887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9§ 120 YRy & U §1] U4 &I Udh 9] § SIS1 Sildl & a4 98 0.5A @1 YRT &dl g1 341
a3 Bl 9d 300 UieRIY aIa |1edl UiaRIy® d Wis] ofidl & a4 d8 0.25A YRT &dl 61 dd 39 acil
&1 fagyd - ae® 90 &1 Br?

1.45V
2.90V
3.135V
4.180V

Options :

21052950825. 1
21052950826. 2
21052950827. 3
21052950828. 4

Question Number : 8 Question Id : 21052912888 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

The young's modulus of elasticity Y of a wire fixed at one end, having uniform cross-sectional
area A to be determined by stretching it along its length by a load at the free end. If the error
associated with the measurement of mass M, length L, radius r and elongation | are 2%, 0.1%,
0.01% and 0.1% respectively, thus the maximum percentage error in the determination of Y is

1. 2.22%
2. 2.12%
3.221%
4, 2.24%

Options :

21052950829. 1
21052950830. 2
21052950831. 3
21052950832. 4

Question Number : 8 Question Id : 21052912888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U& R forgal ta R difi@ied & Ud 39T 0 uRsiad &7 A 8, &1 47 TRyl T0Tids v
Pl 3G Had RINGH SRR GRI 39| THETs B 3R a4 B J191 741 8| 3FR T30 m, TH15
L, 2t r 3R HiepRoT | 31 HI0Ta e HHR: 2%, 0.1%, 0.01% AR 0.1% BI 79 Y & HURUH
Jfman wfawa Ffe 1 gril?

1. 2.22%
2.2.12%
3.2.21%
4. 2.24%

Options :

21052950829. 1
21052950830. 2
21052950831. 3
21052950832. 4

Question Number : 9 Question Id : 21052912889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Frequency (v) of oscillations of a simple pendulum of length 'I' is given by v = %E where ‘g’

is acceleration due to gravity. The dimensional formula of the quantity 'k’ can be written as

1. [MOLOTY)
2. MTLOT9]
3. (MOLOTT)
4. MOLTTY)

Options :

21052950833. 1
21052950834, 2
21052950835. 3
21052950836. 4

Question Number : 9 Question Id : 21052912889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| SaTg ATl E1d didd & Gla @1 A9 (v), v .—.%E%Gﬁg@m-m%l@ﬁm
« &1 fawTa 9 forar o 9@di & -

1. [MOLOTY

2. MTLOT9]

3. [MPLOTT]

4. MOLTTY

Options :

21052950833. 1
21052950834, 2
21052950835. 3
21052950836. 4

Question Number : 10 Question Id : 21052912890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given that coefficient of linear expansion of brass a=0.00002°C™". To increase the length of
brass rod by 1% the rise in temperature required will be

1. 750°C
2. 500°C
3. 200°C
4, 100°C

Options :
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21052950837. 1
21052950838. 2
21052950839. 3
21052950840. 4

Question Number : 10 Question Id : 21052912890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
didd &1 WRad TUR 0N «=0.00002°C' fea1 a1 8| idd &1 8 &1 oiaTs 1% UfaRId g &
o7 ATUHE & a1 agH @1 9od 8l ?

1. 750°C
2. 500°C
3. 200°C
4, 100°C

Options :

21052950837. 1
21052950838. 2
21052950839. 3
21052950840. 4

Question Number : 11 Question Id : 21052912891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A black body of given surface area at temperature T emits certain amount of thermal radiation
per second, If the temperature of the black body is doubled, change of thermal radiation
emitted will be?

1. Two times more than the original value
2. 16 times more than the original value
3. (1/16) times the original value

4, (1/2) times the original value

Options :

21052950841. 1
21052950842. 2
21052950843. 3
21052950844. 4

Question Number : 11 Question Id : 21052912891 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

collegedunia:s

India’s largest Student Review Platform



dIgHH T R fGU 7N U GEIT &% &1 U $iwid] Uh [Hidd e o] 3wy fafeso ufd deus
Ifoid @l g1 SR HIVID] a1d GIHI 81 WY dd I fafevor &1 & fba-n st aRad4
gh?

1. URfYS 5 9 a1 e

2. URfY® HH ¢ Fidg 70 § S

3. URIH® H#F &1 1/16 0T
4, URFHS HE T 3147 (1/2 70M)

Options :

21052950841. 1
21052950842. 2
21052950843. 3
21052950844. 4

Question Number : 12 Question Id : 21052912892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two elastic wires of same material have their radii in ratio 3:1. These wires are stretched by
equal force. The ratio of the stress produced by them will be

1. 34
213
319
4, 31

Options :

21052950845. 1
21052950846. 2
21052950847. 3
21052950848. 4

Question Number : 12 Question Id : 21052912892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U 8 Uil & gl U aRl &1 (91 &1 3UTd 3:1 81 39 dRI &1 99H §d gRI dif4d faedr
g1 3% gRI Idifed Ufdad &1 3-urd &1 8I?

1. 34
2. 1.3
3.19
4, 31

Options :
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21052950845. 1
21052950846. 2
21052950847. 3
21052950848. 4

Question Number : 13 Question Id : 21052912893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(Sin wt + cos wt) is a periodic function, its time period will be

b1

'L =2
w
21

v

w
1

W
W

4_ gy
2n

3

Options :

21052950849. 1
21052950850. 2
21052950851. 3
21052950852. 4

Question Number : 13 Question Id : 21052912893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(Sin wt + cos wt) TF 1adl B ol ST GHY 31dd 3491 82

Options :

21052950849. 1
21052950850. 2
21052950851. 3
21052950852. 4

Question Number : 14 Question Id : 21052912894 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
gcollegedunlaa
India’s largest Student Review Platform

Correct Marks : 4 Wrong Marks : 1



A batsman hits a ball with a speed of 14y2 ms~* in a direction 45° above the horizontal. The

maximum height attained by the ball ill be

1.20.0 m

Options :

21052950853. 1
21052950854, 2
21052950855. 3
21052950856. 4

Question Number : 14 Question Id : 21052912894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TP SCUH TP 716 R 14y2 ms™! @ T1d © UER Sl o (o9 162N &fas 9 45° $UR 8idl o
T GRT I HAfY® Sl a1 ari?

1.20.0 m

2.10.0m
u‘E

3. ; m

4142 m

Options :

21052950853. 1
21052950854. 2
21052950855. 3
21052950856. 4

Question Number : 15 Question Id : 21052912895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The graph represents, position and time graph for a body. One can say about the body

X (m)
30]
20
10 4

S 10 15 20 t{:}

0

It has constant speed
It has constant acceleration
It is stationary

S W N

It has constant speed as well as constant acceleration

Options :

21052950857. 1
21052950858. 2
21052950859. 3
21052950860. 4

Question Number : 15 Question Id : 21052912895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X (m)
30

20
10

&

- - - 1 3
ol 5 10 15 20 ¢(s)

JEOEIA e U ol UG a T g @ A el s I SH S d IR S gg Bl A 9Pdl 6 :

1. 3P 919 f49d B

2. 3@ &Ul (Agd 81

3. 98 RR B

4. 391 919 Ud @0 G4 (ad 8

Options :

21052950857. 1
21052950858. 2
21052950859. 3
21052950860. 4

Question Number : 16 Question Id : 21052912896 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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An ac generation

1. Involves rotation of a coil in a magnetic field parallel to axis of rotation of the coil

2. Involves rotation of a coil in a magnetic field perpendicular to axis of rotation of the coll
3. Works in the principle of eddy currents

4. Involves just rotation of coil and there is no need of external electric or magnetic field

Options :

21052950861. 1
21052950862. 2
21052950863. 3
21052950864. 4

Question Number : 16 Question Id : 21052912896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UTadl 4R I -

1.8 UP $odl &1 gUH, TEPIG &7, S Hocil & YU & & FHHIGR aidl 8, § B o

2. 3 P $odl &1 YUl DY 87, S HSal & YUl e & arEad oidl o, § Hd o

3. HaR YR1 & fgid W &1 eal el

4, DHad Dpsal B YUH B & adl dTel dgdd HYd PaD g &3 DI ATWHdl Tl oidl o

Options :

21052950861. 1
21052950862. 2
21052950863. 3
21052950864. 4

Question Number : 17 Question Id : 21052912897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A horizontal overhead powerline is at a height of 10m from the ground and carries a current of
200A from east to west. The magnetic field directly below it on the ground will be

1.2x10°T
2.2x10°T
3.4x10°T
44x10°T

south wards)
north wards)
south wards)
north wards)

S g e g—

Options :

21052950865. 1
21052950866. 2
21052950867. 3

~

T

collegedunia:

India’s largest Student Review Platform



21052950868. 4

Question Number : 17 Question Id : 21052912897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S 10m BT R R A 3aRES UaR A5 2004 B fagdd URT i gd fe=m 4 ufgm &l
3R Gl W 81 3T 31 Uy Hid T8 W TG &7 8

1.2 x 10°° T (GI&0 B 3HR)
2.2x10°°T (G P 3R
3, 4 x 108 T (Gf&01 @ 3HR)
4,4x 108 T (R PI 3R)

Options :

21052950865. 1
21052950866. 2
21052950867. 3
21052950868. 4

Question Number : 18 Question Id : 21052912898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

~

T

collegedunia:s

India’s largest Student Review Platform



Which of the following graph gives correct variation of acceleration due to gravity ‘g’ as a
function y, distance from the centre of the earth? (R=radius of the earth)

g4
1‘ /\
: >
R ¥
cA
2‘ —\
=1 e
R ¥
£ A
&
>
v
4,
_'
Y

Options :

21052950869. 1
21052950870. 2
21052950871. 3
21052950872. 4

Question Number : 18 Question Id : 21052912898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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@I @0 g @ r, Tl & $hg d g3, & 91Y Hod &I Gel URaad (9 & T S 91 310G odl 82
(R = T D1 Bl B)

g A
2. E\
: >
R Y
E A
3.
—»
Y
4. :
: >
R y

Options :

21052950869. 1
21052950870. 2
21052950871. 3
21052950872. 4

Question Number : 19 Question Id : 21052912899 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A beam of protons and beam of electrons are moving parallel to each other in opposite
direction in air. The beams are likely to

1. Repel each other

2. Attract each other

3. neither repel nor attract each other

4, Sometimes repel or attract, depending on the native of the medium

Options :

21052950873. 1
21052950874. 2
21052950875. 3
21052950876. 4

Question Number : 19 Question Id : 21052912899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e @1 U [0 quT SaideHl & Uoh faieul a1 H U gux & FHHIGR TR faudia feemaif d
W@ eI Al A S gyfdd e, a8 &

1. Uh QR I faditd 1|

2. Ut Gk I Hhid B

3. U R @I 9 dl [adid 32 3R 781 AThfud B

4, H1OH I UPpid AFER BT - dH1 [asita 71 siefta &3

Options :

21052950873. 1
21052950874. 2
21052950875. 3
21052950876. 4

Question Number : 20 Question Id : 21052912900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A resistor of certain resistance R is able to produce 440 ) of thermal energy in 22 s, When an
electric current of 2A is passed through the resistor. On increasing the electric current to 5A,
the thermal energy produced in the same time will be

1. 1.80 KJ
2. 2,20 KJ
3. 2,75 KIJ
4.3.2KJ

Options :

~

T
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21052950877. 1
21052950878. 2
21052950879. 3
21052950880. 4

Question Number : 20 Question Id : 21052912900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Te A& UfaRI=T R 1 UfeRTYD, 440 ) TUG Froil 22 YS H I Bl & 98 39 FRIY® J 24
@1 faggd YR yaifed &1 Siidl 81 fagyd YRT &1 961 B 5A B W Ia- &1 999 H ol adig FHaf
JOA BN 8 8 :

1. 1.80 KJ
2. 2,20 KJ
3. 2.75 K
4 32K/

Options :

21052950877. 1
21052950878. 2
21052950879. 3
21052950880. 4

Question Number : 21 Question Id : 21052912901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A piece of iron and a piece of germanium are cooled from the 400K temperature down to 77K.

1. The resistance of each of them increases
2. The resistance of each of them decreases
3. The resistance of iron increases and that of germanium decreases
4. The resistance of iron decreases and that of germanium increases

Options :

21052950881. 1
21052950882. 2
21052950883. 3
21052950884. 4

Question Number : 21 Question Id : 21052912901 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

collegedunia:s

India’s largest Student Review Platform



Udh R & Ths ayl Udh ofH (MGH & Chs &l DA & d1d 9§ 77K Hd T 331 b 77 -

1. Udd & ufaRly 9¢dl 8

2. Udd & UfcRiY 9edl &

3, TR @1 Uikl §¢dl & 94 94 @I 9edl o

4, TR @ UieR1Y g2l & 3R o a9 $1 96dl o

Options :

21052950881. 1
21052950882. 2
21052950883. 3
21052950884. 4

Question Number : 22 Question Id : 21052912902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A capacitor of capacitance 800 pF is charged by a battery of 220V. The energy stored in the
capacitor is nearly

1.0.38 W
2.9.68 W
3.19.36 W
4,38.72

Options :

21052950885. 1
21052950886. 2
21052950887. 3
21052950888. 4

Question Number : 22 Question Id : 21052912902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ue Yy forgat 41fiar 800 pF 8 @1 220V &1 981 T 1R H31 W 41Ra d tafid Sl & -

1.0.38 p
2.9.68 W
3.19.36 W
4,3872 W

Options :

21052950885. 1
21052950886. 2
21052950887. 3
21052950888. 4
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Question Number : 23 Question Id : 21052912903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A pendulum clock and a wrist watch both are taken deep in a mine. Which of the following
statements is correct

1. Both will show correct and same time

2. Pendulum clock will run fast and wrist watch will run slow

3. Pendulum clock will run slow and wrist watch will give correct time
4. Both will run slow and give same time

Options :

21052950889. 1
21052950890. 2
21052950891. 3
21052950892. 4

Question Number : 23 Question Id : 21052912903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U UgaH US| a4l Us g1 &1 Ua1, GHI &I U 718l @ H o 91 T &1 Ry H 9 @15 91 HyH
'\El_Eﬁ%:

1. GH 9ol U4 G THY gardi|

2. U 93! dsl goiil 3R 214 &1 g diH gai
3. UgaH uSl ! gcivil 3R 1Y &I Ul oo il
4, T e Il 3R 99 99y <t

Options :

21052950889. 1
21052950890. 2
21052950891. 3
21052950892. 4

Question Number : 24 Question Id : 21052912904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The torque of a force, F = 2i - 3j + 4k about the origin when on a particle with position vector
is 2k is

1. 61+ 4j
24j+6i+4
3. 6k

4.0

Options :

21052950893. 1
21052950894, 2
21052950895. 3
21052950896. 4

Question Number : 24 Question Id : 21052912904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U% M GieT 2k & SR T & F = 21 — 3j + 4k O 701 fdg & GU& & ;

1.6+ 4j
2.4+ 6i+4
3. 6k

4.0

Options :

21052950893. 1
21052950894. 2
21052950895. 3
21052950896. 4

Question Number : 25 Question Id : 21052912905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A scale of Tm in length is balanced at its centre of gravity on a sharp edge. Now three small
rings are placed at 10cm mark and the scale is balanced at 40cm mark. If mass of the scale is
45g, then what will be the mass of each ring?

1.15g
2.5¢9

3.10g
4.45g

Options :
21052950897. 1
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21052950898. 2
21052950899. 3
21052950900. 4

Question Number : 25 Question Id : 21052912905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 m THETS & Hie Whd ®I 39D T[ocd g W Ud did YR W Ydfard fhar T 81 10em & F=H
R diH BId1 {317 € 741 8 9Y1 T d &1 UgaH 40 em TR fogr a1 81 9fE Thd @1 Yefd 459 8
dl ud® 1 1 Gefa et -

1.15 ¢
2.5g
3.10 g
4.45¢g

Options :

21052950897. 1
21052950898. 2
21052950899. 3
21052950900. 4

Question Number : 26 Question Id : 21052912906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will happen when the light suffers refraction while it travels from a rarer denser medium

1. Its wavelength increases but frequency remains constant
2. Its wavelength decreases but frequency remains constant
3. Its wavelength remain constant but frequency decreases

4. Its wavelength and frequency both decrease

Options :

21052950901. 1
21052950902. 2
21052950903. 3
21052950904. 4

Question Number : 26 Question Id : 21052912906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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UHIY Sd faXd 91994 § 994 A19H § 7754 &dl & df 39 3Udd - ° &1 g2

1. 3GD! AT oF detil IRg g FRR wft
2. I T o gt g 3af fRR @it
3. 3YP! o3 o9 AR Tl WReg g gt
4, P! a1 o T g gl gt

Options :

21052950901. 1
21052950902. 2
21052950903. 3
21052950904. 4

Question Number : 27 Question Id : 21052912907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a parallel beam of monochromatic light of wavelength 600nm. It is allowed to pass
through slit of width 0.15mm. Assume that the angles involed are very small. The angular
divergence in which most of the light gets diffracted will be

1.4.0x 103 rad
2.2.0x 1073 rad
3.8.0x 107 rad
4. 90 deg

Options :

21052950905. 1
21052950906. 2
21052950907. 3
21052950908. 4

Question Number : 27 Question Id : 21052912907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
600nm TG B, Th¥T & YHI GHMFIR fb0ll &I T 0.15mm @1 311 & Rava &g ma
2| Haftrd ST &I 9gd BIeT AF: By fdgeq e e uel &1 fagdd 8l s, a8 8

1.4.0 x 10 rad
2.2.0x 1073 rad
3.8.0x 107 rad
4. 90 deg

Options :
21052950905. 1
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21052950906. 2
21052950907. 3
21052950908. 4

Question Number : 28 Question Id : 21052912908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following phenomena establishes the transverse nature of light wave?

1. Interferance of light
2. Diffraction of light
3. Scattering of light
4. Polarisation of light

Options :

210529509009. 1
21052950910. 2
21052950911. 3
21052950912. 4

Question Number : 28 Question Id : 21052912908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FafaRad gemsil 8 O o1 91 oiad Uaie o Udid &f ®iftd &l 82

1. BT & Afddpo

2. U1 &1 fgadq
3. TPTR T TH 0
4, YT BT vl

Options :

210529509009. 1
21052950910. 2
21052950911. 3
21052950912. 4

Question Number : 29 Question Id : 21052912909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A plane electromagnetic wave of frequency 30MHz travels in free space along the z-axis
direction. At a particular point in space and time B = 2 x 10~%jT. What will be the electric field F
at this point?

1.= x 10 Y/
2. 61 V/m

3. “: x 107 1%§ vfm
4. 0.6] V/m
Options :
21052950913. 1
21052950914. 2

21052950915. 3
21052950916. 4

Question Number : 29 Question Id : 21052912909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
30MHz 3T ®1 dggd gradIg a1l &1 Ud da Jad Adie H z - &l G2 & 91y 7185 Sl
3faftel § ue fai fig aT 999 W § = 2x 10-%y7 o1 39 fdg W fagga &7 g @ smm?

1.2 x10%1 Y/
2.61 V/m
3.3 x 107161 V/p,

4. 0.6j V/m

Options :

21052950913. 1
21052950914. 2
21052950915. 3
21052950916. 4

Question Number : 30 Question Id : 21052912910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statements is NOT correct?

1. Electromagnetic waves can be diffracted, refracted and polarized

2. Electromagnetic waves carry both energy and momentum

3. Electromagnetic waves exert radiation pressure

4. Material medium is required for propagation of electromagnetic waves

Options :

collegedunia:

India’s largest Student Review Platform

~

T



21052950917. 1
21052950918. 2
21052950919. 3
21052950920. 4

Question Number : 30 Question Id : 21052912910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafafRed # € 19 Y 9ol 78l o ?

1. 3640 gE®G ol &I fadd, GRida- a4l §dul &l T&dl o

2. dggd g oyl H SHell oyl 71fd gl gl |

3. I¢gd TP a¢ fafehRul gre STad 8

4, 3¢ O T B o & TT 5od & AIH B SaRTHl sldl 6|

Options :

21052950917. 1
21052950918. 2
21052950919. 3
21052950920. 4

Question Number : 31 Question Id : 21052912911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the mass number of two nuclei, A and B, are 27 and 64 respectively, Then the ratio of the
radii of nuclei A and B will be

1. 64:27
2. 4:3
3. 34
4 27:64

Options :

21052950921. 1
21052950922, 2
21052950923. 3
21052950924. 4

Question Number : 31 Question Id : 21052912911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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&l gfderal A quT B & foru Yefa Y= o= 27 94T 64 8 | fdasii A auT B &1 BAsars(i &1
3UTd 8111 ;

1. 64:27
2.4:3
3. 34
4, 2764

Options :

21052950921. 1
21052950922. 2
21052950923. 3
21052950924. 4

Question Number : 32 Question Id : 21052912912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In the photoelectric effect, the threshold frequency depends upon

1. Intensity of incident light

2. Frequency of incident light

3. Nature of the material of emitting material

4. The potential drop between the anode and the photosensitive material

Options :

21052950925. 1
21052950926. 2
21052950927. 3
21052950928. 4

Question Number : 32 Question Id : 21052912912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U faggd wHTa | ggal Sfighi R &l & -

1. UhTRI B STufad foson @1 didgdr W

2. Y11 &1 31afad faxoll &1 3fgiy W

3. 3o B Al 5o @I Upfd R

4, TS YT BIel el 5od & A faya o1 fivige W

Options :

21052950925. 1
21052950926. 2
21052950927. 3
21052950928. 4
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Question Number : 33 Question Id : 21052912913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An electron has been accelerated by a potential difference of V volts. The de Broglie
wavelength for the electron is given by

1 1= a'l/
vamVe
3 A= hm/uzw
3.4 = hv/mne
iy hm/zw
Options :

21052950929. 1
21052950930. 2
21052950931. 3
21052950932. 4

Question Number : 33 Question Id : 21052912913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Udh 3aidel dI @0l U faHd 3HaX V volts BRT fd1 711 81 Sdac &1 & sivci! a1 GH o :

R hm/ZVe

Options :

21052950929. 1
21052950930. 2
21052950931. 3
21052950932. 4

Question Number : 34 Question Id : 21052912914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L ]
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A plane mirror rotating at an angular velocity of 5 rad/s reflects a light beam. What will be the
angular velocity of the light beam?

1. 5 rad/s

2. 10 rad/s
3. 15 rad/s
4, 20 rad/s

Options :

21052950933. 1
21052950934. 2
21052950935. 3
21052950936. 4

Question Number : 34 Question Id : 21052912914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
5 rad/sec & ®IUG 371 9§ YU Bl §31 T FHdA GUUT, TP & U [R0] & GIda- ddl ol
U fHur o1 Hivfig o o1 g

1. 5rad/s

2. 10 rad/s
3. 15 rad/s
4, 20 rad/s

Options :

21052950933. 1
21052950934. 2
21052950935. 3
21052950936. 4

Question Number : 35 Question Id : 21052912915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A parallel beam of light of wavelength 600 nm falls normally on a slit of width "a". Find the
value of "a’ so that the first order diffraction maximum occurs at an angle of 30°.

1.1.1x10°%°m
2.12x10%m
3.13x10%m
414x10°%m

Options :

~
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21052950937. 1
21052950938. 2
21052950939. 3
21052950940. 4

Question Number : 35 Question Id : 21052912915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

600 nm P! FHMIGR DI [0 GIH ¥9 U TS 'a° 9iels @I 19kl U USdl ol 3G 30° TR UYH
Piic B [addd 3=9aH9 Bidl & dl 'a' D1 JH J1d DI :

1.1.1x10°%m
2.12x10°%m
3.13x10%m
414x10°%m

Options :

21052950937. 1
21052950938. 2
21052950939. 3
21052950940. 4

Question Number : 36 Question Id : 21052912916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Primary of a transformer contains 50 turns while its secondary coil contains 150 turns. It is
used to step up 220V at 10A. If efficiency of the transformer is 90% then how much will be the
current in the secondary coil?

3. 304
4.34

Options :

21052950941, 1
21052950942, 2
21052950943. 3
21052950944. 4

Question Number : 36 Question Id : 21052912916 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

2B F 50 UiYfH® - & SR fGdia® dscil § 150 2 & 29®1 SUART 10A TR 220V & dgH
$mm%|aﬁmﬁawgo%%mmmﬁﬁWWWﬁTﬁ

11A
2

1
2—A
3

3.304
4. 34

Options :

21052950941. 1
21052950942, 2
21052950943. 3
21052950944. 4

Question Number : 37 Question Id : 21052912917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two concentric circular loops lying in the same plane are of radii riand rz (r{ < < rp). The
mutual inductance between them is

Options :

21052950945. 1
21052950946. 2
21052950947. 3
21052950948. 4

Question Number : 37 Question Id : 21052912917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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gl Ufhfad UHR U Uhe! T IR US § 3R 390! 300/ 11 TUT 128 (11 < < ra) | 3T
AT IRPd &

.2
HoTth
2ry ;
Holtry
21, :
3 Ko 13

2
HoTtTy

2r;

1.

2.

Options :

21052950945. 1
21052950946. 2
21052950947. 3
21052950948. 4

Question Number : 38 Question Id : 21052912918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Particle A has a charge +q and the particle B has a charge of +16q. Each having the same mass
m. When allowed to fall from rest through the same potential difference, the ratio of their
speeds Va/Vg will be

1. 4:1
2. 14
3.2V2:1
4.1:2¢/2

Options :

21052950949. 1
21052950950. 2
21052950951. 3
21052950952. 4

Question Number : 38 Question Id : 21052912918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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HUI A T Y +q & YT ST B T HAY +16q & AR 3@ eid THH & GHl @I od fRR
AR ¥ UF g fa4d 3R H 4RI & dt 331 Tl vay/ve B

1.42%
2. 14

3.2v2:1
4.1:2V2

Options :

21052950949. 1
21052950950. 2
21052950951. 3
21052950952. 4

Question Number : 39 Question Id : 21052912919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A capacitor of capacitance C is fully charged by a 200V supply. It is then discharged through a
small coil of resistance wire embedded in a thermally insulated block of specific heat 3.5 x 10°
JKg™' K' and of mass 0.2 Kg. If the temperature of the block raises by 0.4 K, what will be the
value of C?

1. 1000 pF
2. 1200 pF
3. 1400 pF
4, 1600 uF

Options :

21052950953. 1
21052950954. 2
210529509353, 3
21052950956. 4

Question Number : 39 Question Id : 21052912919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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cm?ﬁﬁﬂrﬁiﬁzmvaﬁﬂﬁﬂ‘éﬁqﬁmﬂ 13RI B o 71 B | 39D U Sic] uiaidi
dR @1 pacil H 142 Had &d o | Dol b 0.2 Kg eld AR AP FH135x 102 JKg K &
$Ycifes &d H §q o | 4fc 1P &1 A9 0.4 K §¢ S dl C &1 HH &1 81 ?

1. 1000 pF
2. 1200 pF
3. 1400 uF
4. 1600 pF

Options :

21052950953. 1
21052950954. 2
21052950955. 3
21052950956. 4

Question Number : 40 Question Id : 21052912920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Expression for average radius of a nucleus and hence the radius of a given hypothetical
nucleus 87X will respectively be [Given that Rg=1.1 fm]

1.R = RgA?, 8.8 fm
2.R=RpA"3 4.4 fm
3.R=RpA"3 3.3 fm
4. R =RpAV®, 2.2 fm

Options :

21052950957. 1
21052950958. 2
21052950959. 3
21052950960. 4

Question Number : 40 Question Id : 21052912920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NS & 319 B & SHfeaidd Ty T Sredi-ed AliH® 34X B IUD ATUYR TR FHsar gifl
PO (GT1 8 : Ro=1.1 fm)

1.R = RgA?, 8.8 fm
2.R=RpA"3 4.4 fm
3.R=RpA3, 3.3 fm
4. R =RpA®, 2.2 fm
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Options :

21052950957. 1
21052950958. 2
21052950959. 3
21052950960. 4

Question Number : 41 Question Id : 21052912921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are four atoms hydrogen (3H), deuterium (3H), Tritium (3H) and singly ionised helium
atom (3H)*. These under go transition from third orbit to first orbit. If A1, A3, Az and A4 be the

respective wavelengths of the emitted light by the atoms, then correct statement will be

1. A=A A<y
2. M=A=A3< )y
3. Ai<Aa<A3<g
4. M=A=A3> Ny

Options :

21052950961. 1
21052950962. 2
21052950963. 3
21052950964. 4

Question Number : 41 Question Id : 21052912921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

glgeloH & IR A & - B3 aleH (1H), SeRad (2H), fefeaq (3H) iR tad smafd gifaad
URHIY] ($H)* | O A< B4 8 Ugl H& H WshH0 9 TORd a1 TG Ay, As, Ay 3R Ay TRHETI3H
GRI Sodfvid THIRI I Gaidd ol o & al HeRad 5 4 & 91 dY1 98l 6 ?

1. M=A>A3<My
2. M=A=A3<\s
3. M <ha<Az<g
4, ?5.1 =?\2=;"k3 2*?\1

Options :

21052950961. 1
21052950962. 2
21052950963. 3
21052950964. 4

Question Number : 42 Question Id : 21052912922 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

233U converts into *95Pb by radio active decay process. How many a-particle and B-particle

may be emitted in the process

1. 8a and 8P
2. 5aand 12p
3. 8a and 6p
4. 6a and 8P

Options :

21052950965. 1
21052950966. 2
21052950967. 3
21052950968. 4

Question Number : 42 Question Id : 21052912922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
238y ST &g ufshan gR1 226pb H URafdd 81 oirdl 8 | 39 Uihal H i o- BT 3R p- U
Jfoid 81 §dbd a7

1. BHGﬁ?BB
2. 5a 3R 12p
3. 8a AR 6B
4. 6a 3R 8B

Options :

21052950965. 1
21052950966. 2
21052950967. 3
21052950968. 4

Question Number : 43 Question Id : 21052912923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The electrical conductivity of a semiconductor increases when electromagnetic radiation of
wavelength shorter than 2400 nm is incident on it. The band gap (in eV) for the semiconductor
would be (h = 6.63 x 103 ] g)

1.033 eV
2.0.80 eV
3.052 eV
4.0.10 eV

Options :

21052950969. 1
21052950970. 2
21052950971. 3
21052950972. 4

Question Number : 43 Question Id : 21052912923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
94 2400 nm ¥ BIE a1 & @1 fdgqd gra® g fafd<ul Us 3¢ Irad IR USdl & al 39 &I
fagqd aradd 9¢ Sl & | 39 3 I1ad (S H3deR) BT 88 HaTd (eV H) BT :

1.033 eV
2.0.80 eV
3.0.52 eV
4 0.10 eV

Options :

21052950969. 1
21052950970. 2
21052950971. 3
21052950972. 4

Question Number : 44 Question Id : 21052912924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the Ferromagnetic material the susceptibility is

1. Large and negative
2. Large and positive
3. Small and positive
4. Small and negative

Options :
21052950973. 1

~
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21052950974. 2
21052950975. 3
21052950976. 4

Question Number : 44 Question Id : 21052912924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dlege®ig e (hrmdfcd 3eiga) @ de-=iiadl & -

1. 931 R TPRED
2. 931 3R YBRIHAD
3. BT IR IHRTHD
4, BT 3R THRTAD

Options :

21052950973. 1
21052950974. 2
21052950975. 3
21052950976. 4

Question Number : 45 Question Id : 21052912925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two point charges each in +q are kept at the two corners of a cube. The electric flux linked
with all the six faces of the cube will be

1 g
‘35(}
2q
€o
3 q
" 4e,
4q

€o

4,

Options :

21052950977. 1
21052950978. 2
21052950979. 3
21052950980. 4

Question Number : 45 Question Id : 21052912925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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gl feig 1Ay o | TS &1 JH + q & P U 9 & Gl DIl IR 31 oIl ¢ | 9 & 9t
&¢ Bad! 4 oSl g3 fagyd Wi © -

1 .,
' afo
2q
o
3 =
" 4de,
4q

€o

2.

4.

Options :

21052950977. 1
21052950978. 2
21052950979. 3
21052950980. 4

Question Number : 46 Question Id : 21052912926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The potential difference (V) and the current () flowing through an instrument in an AC circuit
are V=10 cos wt and I=5 sin wt, respectively. The power dissipated by the instrument is

1. Zerow
2.2 W
3.0W
4 50w

Options :

21052950981. 1
21052950982, 2
21052950983. 3
21052950984. 4

Question Number : 46 Question Id : 21052912926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ol gfdhe d fod 43 & fqyaiar (v) 3R vaifed fagga 4RI (1) 9 V=10 cos wt 3R | = 5 sin
wt 81 33 F fadivf =ifda 8

1. Zero w
2.2 W
3.5 wW
4 50w
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Options :

21052950981. 1
21052950982. 2
21052950983. 3
21052950984. 4

Question Number : 47 Question Id : 21052912927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A bucket contains some transparent liquid and the depth of the bucket is 50 cm. On looking
from above, the bottom appears to be raised by 5 cm. The refraction index of the liquid will be

1.4/9
2. 7/9
3. 10/9
4. 11/9

Options :

21052950985. 1
21052950986. 2
21052950987. 3
21052950988. 4

Question Number : 47 Question Id : 21052912927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U dice] H Uoh URGT dva 43T © 3R dice] @1 7Tedls 50 981 gldt 81 SR I S84 IR, §icc] @l
il 4id 9 5 GH! I3T1 g3 Wdlld 8idl 8| R &l HUdaHi® o -

1.4/9
2.7/9
3. 10/9
4.11/9

Options :

21052950985. 1
21052950986. 2
21052950987. 3
21052950988. 4

Question Number : 48 Question Id : 21052912928 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
gcollegedunias
India’s largest Student Review Platform
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A message signal of frequency 15 KHz is used to modulate a carrier of frequency 1.5 KHz. The
side band produced are

1. 1485 KHz, 1500 KHz
2. 1500 KHz, 1515 KHz
3. 1500 KHz, 1530 KHz
4, 1485 KHz, 1515 KHz

Options :

21052950989. 1
21052950990. 2
21052950991. 3
21052950992. 4

Question Number : 48 Question Id : 21052912928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

15 MHz A1 & G<X dled (HY9 [99a) &1 3UTFT 1.5 MHz A9 & died (BRW) S Jigae
B & (7T fhaT a1 | SAMGd FRs 935 3 -

1. 1485 MHz, 1500 MHz
2. 1500 MHz, 1515 MHz
3. 1500 MHz, 1530 MHz
4, 1485 MHz, 1515 MHz

Options :

21052950989. 1
21052950990. 2
21052950991. 3
21052950992. 4

Question Number : 49 Question Id : 21052912929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

To make n-type semiconductor, the dopant to be used is

1. Phosphorous
2. Indium

3. Boron

4, Aluminium

Options :
21052950993. 1

~
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21052950994. 2
21052950995. 3
21052950996. 4

Question Number : 49 Question Id : 21052912929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
n- 2150 UOIa® ([EHidsaex) ¥4 & [od fhudT Ui 316® (SU<) B aig fadl Srdl 87

Options :

21052950993. 1
21052950994, 2
21052950995. 3
21052950996. 4

Question Number : 50 Question Id : 21052912930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Identify the GATE for the table given below

(SRS = T = T N

i
0 1
1 0
0 0
L

1. NAND GATE
2. NOR GATE
3. AND GATE
4. OR GATE

Options :

21052950997. 1
21052950998. 2
21052950999. 3
21052951000. 4

Question Number : 50 Question Id : 21052912930 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
gcollegedunlaa
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O

bl

2
Y
1
0
0
0

Options :

21052950997. 1
21052950998. 2
21052950999. 3
21052951000. 4

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

e GgaE 9l & T 98l 7ic ugan:

Part II Chemistry 8

210529182
2

Online
Mandatory
50

50

200

Yes

|
210529433
Yes

Question Number : 51 Question Id : 21052912931 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following undergoes nucleophilic substitution exclusively by SNt mechanism?

1. Methyl chloride

2. Cyclohexyl chloride
3. Isopropyl chloride
4. Benzyl chloride

Options :

-
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21052951001. 1
21052951002. 2
21052951003. 3
21052951004. 4

Question Number : 51 Question Id : 21052912931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fAgfafaa & T 791 SN, 93 gR1 339 ¥4 ¥ gfeaiihiom UfaeiTg 9 ToRdl 87

1. FuEd aRiEs

2. GIEddlefad FRISS
3. AEYYIUE RIS S
4, d3d FARES
Options :

21052951001. 1
21052951002 2

21052951003. 3
21052951004. 4

Question Number : 52 Question Id : 21052912932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following has highest percentage of chlorine?

1. Chlorobenzene

2. Chloral

3. Pyrene

4. Hexachlorocyclohexane

Options :

21052951005. 1
21052951006. 2
21052951007. 3
21052951008. 4

Question Number : 52 Question 1d : 21052912932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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9 d O f5ud aaki= &1 ufded 9aiiae a2

1. TR St

2. FARd

3, UIH

4, 3991 FAR| GIgadiioadd

Options :

21052951005. 1
21052951006. 2
21052951007. 3
21052951008. 4

Question Number : 53 Question Id : 21052912933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a compound, Y boils at 315 °C with little decomposition then, the impure compound Y can
be purified by

1. Simple distillation

2. Vacuum distillation

3. Extraction with solvent
4, Steam distillation

Options :

210529510009. 1
21052951010. 2
21052951011. 3
21052951012. 4

Question Number : 533 Question Id : 21052912933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g% ue T, v UTST 3fU9e- & 919 315 °C TR 39adl o, dl =[S dITd Y B FARY
< far o gddr o

1. TR HTHGA

2, Fafa emgaa

3. faamas & Ty fAssdor
4, Y19 TG

Options :

~
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21052951009. 1
21052951010. 2
21052951011. 3
21052951012. 4

Question Number : 54 Question Id : 21052912934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On reaction of ethene with Baeyer's reagent, the product is

1. Ethane

2. Ethene

3. Diethyl ether
4. Ethylene glycol

Options :

21052951013. 1
21052951014. 2
21052951015. 3
21052951016. 4

Question Number : 54 Question Id : 21052912934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

udiH @l 99X AfHHHS & 91y Ulaihar 1R 71 IJIG 944l 6

1. 049

2. 04

3. SIRUYRH U

4, QYIS TS DA

Options :

21052951013. 1
21052951014. 2
21052951015. 3
21052951016. 4

Question Number : 55 Question Id : 21052912935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L ]
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Which of the following is most acidic?

1. Heptane-2,4-dione

2. Heptane-2,5-dione
3. Heptane-2,6-dione
4. Heptane-2,3-dione

Options :

21052951017. 1
21052951018. 2
21052951019. 3
21052951020. 4

Question Number : 55 Question Id : 21052912935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FafeRad # 9 & gad s iy 82

1. 8UcH-2,4- SR
2. 8UCH- 2,5- S
3. gUCH- 2,6- BIE30
4. gUcH- 2,3- B3

Options :

21052951017. 1
21052951018. 2
21052951019. 3
21052951020. 4

Question Number : 56 Question Id : 21052912936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Benzoic acid reacts with nitric acid and sulphuric acid to give

1. 2-Nitrobenzoic acid
2. 3-Nitrobenzoic acid
3. 4-Nitrobenzoic acid
4, 2,4,6-Trinitrobenzoic acid

Options :
21052951021. 1
21052951022. 2

~
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21052951023, 3
21052951024. 4

Question Number : 56 Question Id : 21052912936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sile® i, AEfed o AR TerERe 3 & 9y ufafey s a1 411 8

1. 2-T3CIE-SIg® HK
pRERE | X GECIES Ry
3. 4--_-I|$E:Ia Eﬂlifﬁ SHI
4. 2,4,6- TRTCId~Igd K

Options :

21052951021. 1
21052951022. 2
21052951023. 3
21052951024. 4

Question Number : 57 Question Id : 21052912937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds does not exhibit optical isomerism?

1. Tartaric acid
2. Maleic acid
3. Lactic acid
4, Alanine

Options :

21052951025. 1
21052951026. 2
21052951027. 3
21052951028. 4

Question Number : 57 Question Id : 21052912937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L ]
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Fafaiad § 9 @1 91 3iffte yau Saagadl &1 UeRiH Jal Rdl o7
1. TREN® A&

2. Aftis® 3
3, difided 3

4, TcTdi=

Options :

21052951025. 1
21052951026. 2
21052951027. 3
21052951028. 4

Question Number : 58 Question Id : 21052912938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the product will be obtained in the reaction?

CH.NH,
HNO,

Yy —
~/ 0-5°C

+[D
——

Options :

21052951029. 1
21052951030. 2
21052951031. 3
21052951032. 4

Question Number : 58 Question Id : 21052912938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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fFafaReg sfufear & o9 91 3arg urd fear s

CHNH,
HNO,

Options :

210529510209. 1
21052951030. 2
21052951031. 3
21052951032. 4

Question Number : 59 Question Id : 21052912939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds have least pK; value?

1. NC-CH-CHz-NH3

2. N(CaHs)3
3. CH3NH>
4, HO-CH>NH;

Options :

21052951033. 1
21052951034. 2
21052951035. 3
21052951036. 4

Question Number : 59 Question Id : 21052912939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L ]
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Fafafed & feg difffe &1 pk, 99 999 9 8

1. NC-CH> -CH; -NH;
2. N(C3Hs)3

3. CH3-NH>

4, HO-CH;NH;

Options :

21052951033, 1
21052951034. 2
21052951035. 3
21052951036. 4

Question Number : 60 Question Id : 21052912940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the percentage of adenine in DNA is 30%, then what will be the percentage of guanine?

1. 30%
2. 20%

3. 70%
4. 60%

Options :

21052951037. 1
21052951038. 2
21052951039. 3
21052951040. 4

Question Number : 60 Question Id : 21052912940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3R ST 8 Ui &1 ufawrd 30% &, 91 Isi1fA+ &1 ufd=id &1 i

1. 30%
2. 20%
3. 70%
4. 60%

Options :
21052951037. 1
21052951038. 2

~
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21052951039. 3
21052951040. 4

Question Number : 61 Question Id : 21052912941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the correct option for Raffinose.

1. It Is @ monosaccharide.

2. It is a disaccharide.
3. It is a trisaccharide.
4. Protein

Options :

21052951041. 1
21052951042. 2
21052951043. 3
21052951044. 4

Question Number : 61 Question Id : 21052912941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A & U el fah g &1 994 &< |

1. 98 U AFEDSS o
2. U8 U SIZDUES Bl
3. U8 Ud TI3aaiss o |
4. U1

Options :

21052951041. 1
21052951042. 2
21052951043. 3
21052951044. 4

Question Number : 62 Question Id : 21052912942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L ]
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Which of the following monomers are unsuitable for condensation polymerization?

1. Ethanoic acid and ethanol

2. Hexane-1,6-dioic acid and ethylene glycol
3. Hexane-1,6-dioic acid and ethylenediamine
4. Hydroxyacids

Options :

21052951045. 1
21052951046. 2
21052951047. 3
21052951048. 4

Question Number : 62 Question Id : 21052912942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FafaRad tode § 9 $1H 91 995+ dgdd & fad HJugad 67

1. DYFIEH 3 3R TUATd

2. 8 - 1, 6 - SIHASD 1 HR TUTH TWZHIA
3. 8FH - 1, 6 - SIEHITD A AHR TS HHA
4, QIS

Options :

21052951045. 1
21052951046. 2
21052951047. 3
21052951048. 4

Question Number : 63 Question Id : 21052912943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following has the maximum crystallinity?

1. Atactic

2. Isotactic

3. Syndiotactic

4. Syndiotactic and Atactic

Options :
21052951049. 1
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India’s largest Student Review Platform

~

T



21052951050. 2
21052951051. 3
21052951052. 4

Question Number : 63 Question Id : 21052912943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fFofefed & @ fegd sfdeay fewedigare?

1. Ucfded

5 oy

3, RigEanefes

4, RisR3iicide® 3R tefde®
Options :

21052951049. 1

21052951050. 2

21052951051. 3
21052951052. 4

Question Number : 64 Question Id : 21052912944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is a secondary pollutant?

1. N;O
2. 503
3. CO3
4. PAN

Options :

21052951053. 1
21052951054. 2
21052951055. 3
21052951056. 4

Question Number : 64 Question Id : 21052912944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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g 3 3 @ 91 ta fgdia® ugus 82

1. N2O
2. 50,
3. CO3
4. PAN

Options :

21052951053. 1
21052951054. 2
21052951055. 3
21052951056. 4

Question Number : 65 Question Id : 21052912945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Eutrophication of lakes means

1. low in nutrients and sediments

2. high in nutrients and sediments
3. high temperature
4. less fertile

Options :

21052951057. 1
21052951058. 2
21052951059. 3
21052951060. 4

Question Number : 65 Question Id : 21052912945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gital & gaivo &1 9dqd o

1. US® dad] 3R dadc § &H

2. UI9® dadl 3R daac # 3=

3. 3= dIGHE

4, BH IS

Options :
21052951057. 1

~
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21052951058. 2
21052951059. 3
21052951060. 4

Question Number : 66 Question Id : 21052912946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following gas is released on reaction of metal with sulphuric acid?

1. Chlorine
2. Oxygen
3. Hydrogen

4. Bromine

Options :

21052951061. 1
21052951062. 2
21052951063. 3
21052951064. 4

Question Number : 66 Question Id : 21052912946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
GRS 3% & 1Y 1q $i SHfHiha )R HaitiRad 5 § @ 9@ 19 Faddl 87

1. TR
2, Ao

3. IS SioH
4, FifHA

Options :

21052951061. 1
21052951062. 2
21052951063. 3
21052951064. 4

Question Number : 67 Question Id : 21052912947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following has zero dipole moment?

1. NH3
2. H>0
3. Benzene
4, NO

Options :

21052951065. 1
21052951066. 2
21052951067. 3
21052951068. 4

Question Number : 67 Question Id : 21052912947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frafaRed & @ fead 3= faya omof grar 27

1. NH3
2. H>0O
3. dof

4. NO

Options :

21052951065. 1
21052951066. 2
21052951067. 3
21052951068. 4

Question Number : 68 Question Id : 21052912948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The amount of heat required to raise the temperature of a body through 1 °C is called its

1. Molar Heat

2. Specific Heat

3. Entropy

4. Thermal Capacity

Options :

~
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21052951069. 1
21052951070. 2
21052951071. 3
21052951072. 4

Question Number : 68 Question Id : 21052912948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1°C & H1ed ¥ fodl uard &1 ar9aH S & (oU H1a=a® H™1 &1 911 $I 391 $el 9idl 6

1. HIeR ST
2.fa QIE FH T

3. Tgrdt
4. YHT &HdT

Options :

21052951069. 1
21052951070. 2
21052951071. 3
21052951072. 4

Question Number : 69 Question Id : 21052912949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which point defect in crystals does not alter the density of the solid?

1. Frenkel defect

2. Schottky defect

3. Interstitial defect
4, None of the above

Options :

21052951073. 1
21052951074. 2
21052951075. 3
21052951076. 4

Question Number : 69 Question Id : 21052912949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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fbeed H I 41 fdg 519 39 319 & U-d | uiadH el &dl 87

1. hod oy

2. TPl ¥

3. AP G

4. 379 U Bz 1 781
Options :
21052951073. 1
21052951074. 2

21052951075. 3
21052951076. 4

Question Number : 70 Question Id : 21052912950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1000 mg of a protein is dissolved in enough water to make 100.0 mL of a solution, If this
solution has an osmotic pressure of 13.3 mm Hg at 27 °C, what is the molar mass of protein?
(R = 0.0821 L atm mol"! K! and 760 mm Hg = 1 atm)

1. 14,074.3 g mol™’
2.13,074.3 g mol’
3.12,768.3 g mol™
4, 11,234.3 g mol™’

Options :

21052951077. 1
21052951078. 2
21052951079. 3
21052951080. 4

Question Number : 70 Question Id : 21052912950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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U® faagd & 100.0 mL §9H & T gaie Ul & 1000 mg Wi STal oiidl 8| afe 39 faag |
27.3 °C TR 13.3 mm Hg P U6 WIERY G4 &, Ol Ui $1 HIeR So3qH &1 87
(R = 0.0821 L atm mol™" K" 3R 760 mm Hg = 1 atm )

1. 14074.3 g mol™’
2.13074.3 g mol™’
3.12768.3 g mol™
4,11234.3 g mol™

Options :

21052951077. 1
21052951078. 2
21052951079. 3
21052951080. 4

Question Number : 71 Question Id : 21052912951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the effect of adding a catalyst on the activation energy (Ea) of a reaction?

1. Activation energy decreases.

2. Activation energy increases.

3. Activation energy remains the same.
4, It depends on the reaction.

Options :

21052951081. 1
21052951082, 2
21052951083. 3
21052951084. 4

Question Number : 71 Question Id : 21052912951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U® AHHfhar ST Tihgu H91 (£,) TR ISR S I FIUYHG sIdl 6 ?

1. 9fpaur Sl HH 8 J1dl 6|
2. Gihgul Huil §¢ Sl |

3, Ifepgur Sl G9H Edl 2
4. g AfHfpar R AR dRar gl

~
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Options :

21052951081. 1
21052951082. 2
21052951083. 3
21052951084. 4

Question Number : 72 Question Id : 21052912952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which cell is used in automobiles and inverters?

1. Mercury Cell

2. Fuel Cell
3. Lead storage cell
4. Dry cell

Options :

21052951085. 1
21052951086. 2
21052951087. 3
21052951088. 4

Question Number : 72 Question Id : 21052912952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

JicHEEd 3R 39cX H g 9d &1 IugiT gl I 82

1. ORI 94
2. 3y 94
3. 08 U9 9

4, 55 9d

Options :

21052951085. 1
21052951086. 2
21052951087. 3
21052951088. 4

Question Number : 73 Question Id : 21052912953 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
gcollegeduniaa
India’s largest Student Review Platform

Correct Marks : 4 Wrong Marks : 1



Which of the following is a distinct feature of physiosorption?

1. It is caused by chemical bond formation.
2. It is highly specific in nature.

3. Itis irreversible

4. None of the above

Options :

21052951089. 1
21052951090. 2
21052951091. 3
21052951092. 4

Question Number : 73 Question Id : 21052912953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafaRad d 9 o1 Yifds ey &1 te Ay fagudr e 2

1. U8 YOS AEY T34 & HRUBIAl ol
2. U8 Ul H rafes fafp 8|

3. T8 3chH0Al &

4. 3TH Y Big Hi Tt

Options :

21052951089. 1

21052951090. 2

21052951091. 3
21052951092. 4

Question Number : 74 Question Id : 21052912954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The conductance in electrolyte conductors is due to

1. Flow of free mobile electrons.
2. Movement of ions.
3. Both of the above
4. None of the above

Options :

21052951093. 1
21052951094. 2
21052951095. 3
21052951096. 4

Question Number : 74 Question Id : 21052912954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
dyduYey dIqd H dicdd by BRI eidl &

1. Jad HIE13d gadeiHl &1 HaTg |
2. gl B 91|
3. SRl

4,39 B3 H T8l
Options :
21052951093. 1
21052951094. 2

21052951095. 3
21052951096. 4

Question Number : 75 Question Id : 21052912955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the correct option for function of a catalyst in a chemical reaction

1. Reduces enthalpy of reaction

2. Decrease rate constant of reaction

3. Increases activation energy of reaction

4. Does not affect the equilibrium constant of reaction

Options :

collegedunia:s
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21052951097. 1
21052951098. 2
21052951099. 3
21052951100. 4

Question Number : 75 Question Id : 21052912955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Us AR Sfufedr § te 3aRe & 1 & [T Gel faded &1 959 3% 7

1. AHfHfHar $ A B FH Bl o

2. Jifferar & 37 RIS | &4

3, i ot afisadr Saf agdr g

4, 3iffpar & 9r fRRIS & TaR yHIfad 78! &dl &

Options :

21052951097. 1
21052951098. 2
21052951099. 3
21052951100. 4

Question Number : 76 Question Id : 21052912956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the solubility product of Pb3(POy); is 1.5 X 10734, then what will be the solubility in gms/litre?

1.2.92x 1077
2.494x 10712
3.742 x 10*
4,892x 1073

Options :

21052951101. 1
21052951102. 2
21052951103. 3
21052951104. 4

Question Number : 76 Question Id : 21052912956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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G Pb3(PO,); 1 faaadl UHTd 1.5 x 10328, df faaadl gms/L & &1 811 2

1.2.92x 1077
2.494 x 1072
3.742x 10%*
4,892x 107

Options :

21052951101. 1
21052951102. 2
21052951103. 3
21052951104. 4

Question Number : 77 Question Id : 21052912957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

At the same temperature, the average molar kinetic energy of N> and CO is

1. KEnz > KEco
2. KEno < KEcp
3. KEn2 = KEep
4. insufficient information given

Options :

21052951105. 1
21052951106. 2
21052951107. 3
21052951108. 4

Question Number : 77 Question Id : 21052912957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U ol dIgdH TR N> 3R CO @ Gd AR Tifas Sl a1 &

1. KEn2 > KEcg
2. KEno < KEep

3. KEn2 = KEcp
4, UG SHDRI Gl
Options :

21052951105. 1
21052951106. 2
21052951107. 3
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21052951108. 4

Question Number : 78 Question Id : 21052912958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

According to the Avogadro's law, what is the relation between volume of 1 kg mol of oxygen
and volume of 1 kg mol of nitrogen, at normal pressure and temperature? ( mass of 1 kg mol
of oxygen is 32 kg and mass of 1 kg mol of nitrogen is 28 kg)

1. volume of 1 kg mol of oxygen is greater than volume of 1 kg mol of nitrogen
2. volume of 1 kg mol of oxygen is less than volume of 1 kg mol of nitrogen

3. volume of 1 kg mol of oxygen is same as volume of 1 kg mol of nitrogen

4. none of the above

Options :

21052951109. 1
21052951110. 2
21052951111. 3
21052951112. 4

Question Number : 78 Question Id : 21052912958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

UGRIS! & FOH & 3ER, 1 kg AT HTaToM BT T AR 1 kg HId A1ZeioH & 00 & &g
ey 397 & TH GE19 3R di9HE UR7 (1 310 Ao &1 5009 32 kg & 3R 1 Jid Tigereq
@1 %o4HH 28 kg 8)

1. HIFHISH & 1 kg I BT HGTG A13IoH DI qa-l H U gidl 8
2. HIFISH & 1 kg HId BT HGIA AlZero- &I ga-l § &Y 8idl &
3. HIFHISH & 1 kg A BT G 1320 & 99 8ldl &

4. FTHI DR HIT=T

Options :

21052951109. 1

21052951110. 2

21052951111. 3
21052951112. 4

Question Number : 79 Question Id : 21052912959 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which statement is ‘true’ for K, the equilibrium constant of a specific reaction?

1. It may be changed by the addition of a catalyst.

2. It increases if the concentration of one of the products is increases.
3. It changes with changes in the temperature.

4, It increases if the concentration of one of the reactants is increased.

Options :

21052951113. 1
21052951114. 2
21052951115. 3
21052951116. 4

Question Number : 79 Question Id : 21052912959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fafzry sififerar 5 wrg RRRi® '« & T & 91 $YH T8l 87

1. 38 IR FI Iuffa & SGar o Gpal g

2. T8 95l & AR US IdIG &I Wig0 & 3iS gt o

3, g8 U9 H 9Gard & 1Y §Gadl o

4, g 9gdl § 3R U@ ATUHas @ Qigun & 3f gt 8

Options :

21052951113, 1
21052951114. 2
21052951115. 3
21052951116. 4

Question Number : 80 Question Id : 21052912960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In some solutions, the concentration of HiO™ remains constant even when small amounts of
strong acid or strong base are added to them. These solutions are known as

1. ideal solution

2. colloidal solution
3. true solution
4, buffer solution

Options :

21052951117. 1
21052951118. 2
21052951119. 3
21052951120. 4

Question Number : 80 Question Id : 21052912960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o [Guga #, H;0* B Figtl R IGd1 &, 519 BICT #E H Holgd 31 31 Holgd §R® 39 Sis|
STl 8| 3 faag &1 o471 Hgl Jidl 8

1. ey faaga

2. PIAESad [dad-
3, gumY faaaq

4, IYgufaish fagaa

Options :

21052951117. 1
21052951118. 2
21052951119..3
21052951120. 4

Question Number : 81 Question Id : 21052912961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In an open system, for maximum work, the process must be entirely

1. irreversible

2. reversible

3. adiabatic

4, none of the above

Options :

21052951121. 1
21052951122. 2
21052951123. 3
21052951124. 4

Question Number : 81 Question Id : 21052912961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g Ao #, 3fddds & & oY, UshH o1 g1 diigt

1. AP HIOMAT

2. IchHIuA]

3. 3G
4,399 9 Big Hi 781
Options :
21052951121. 1
21052951122, 2

21052951123. 3
21052951124. 4

Question Number : 82 Question Id : 21052912962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following drug is being used in cancer therapy?

1. Taxol

2. Azidothymidine
3. Brompheniramine
4. Meprobamate

Options :
21052951125. 1
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21052951126. 2
21052951127. 3
21052951128. 4

Question Number : 82 Question Id : 21052912962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R Fafewr & Fufafea § ° g gar &1 3ugi fear siidr &2

Options :

21052951125. 1
21052951126. 2
21052951127. 3
21052951128. 4

Question Number : 83 Question Id : 21052912963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ratio of mass of electron to proton is

1.5.44 x 107
2. 544 x 10*
3.1.83 x 10
4,183 x 10*

Options :

21052951129. 1
21052951130. 2
21052951131. 3
21052951132. 4

Question Number : 83 Question Id : 21052912963 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
gcollegeduniaa
India’s largest Student Review Platform

Correct Marks : 4 Wrong Marks : 1



gaideF/Miei- & $odH ®I U ©

1.5.44 x 107
2.544 x 10*
3.1.83 x 10
4,1.83 x 10*

Options :

21052951129. 1
21052951130. 2
21052951131. 3
21052951132. 4

Question Number : 84 Question Id : 21052912964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List Il
A. lonic |. NH3.BF3
B. Covalent I, HCI

C. Hydrogen bond |lIl. LiF
D. Coordinate bond|IV. HF
Choose the correct answer from the options given below:

TLA-I,B-IILC-IV,D-|
2Z2A-NLB-ILC-I,D-IV
3.A-ILB-ILC-1V,D-|
4 A-1,LB-I,C-I,D-WV

Options :

21052951133. 1
21052951134. 2
21052951135.3
21052951136. 4

Question Number : 84 Question Id : 21052912964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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ufdd | 7 € 713 aegHi &1 ufdd 1 H fau e Ireren & 9y fHeH a1

uia | ufaa 1

A. TS . NH3.BF;

B. Yeudiaid II. HC

C. BIZSioH &Y [IIl, LiF

D. UGG HTEH|IV. HF

= fu e fameal § ¥ 98 S gL

TA-ILB-IILC-IV,D-I
2A-ILB-ILC-1,D-IV
A= LB =ILC=IV, D=
4 A-1LB-NILC-I,D-IV

Options :

21052951133. 1
21052951134. 2
21052951135. 3
21052951136. 4

Question Number : 85 Question Id : 21052912965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements related to the modern periodic table is incorrect?

1. The p-block has 6 columns, because a maximum of 6 electrons can occupy all the orbitals in
a p-shell.

2. The d-block has 8 columns, because a maximum of 8 electrons can occupy all the orbitals in
a d-subshell.

3. Each block contains a number of columns equal to the number of electrons that can occupy
that subshell.

4. The block indicates value of azimuthal quantum number (l) for the last subshell that
received electrons in building up the electronic configuration.

Options :

21052951137. 1
21052951138. 2
21052951139. 3
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21052951140. 4

Question Number : 85 Question Id : 21052912965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

YR rad gRufl § Yefia Fafaiad § 9 oF 9 du- 7Tad 87

1. p-&IId & 6 371 Bl &, FITh HUDTH 6 IAIdCI- Ud p-Xci DI H&D H 3 b 6|

2. d-1d | 8 T Bid &, FITP AHUHAH 8 Fade d-9d U D] D& J AT THd 8|

3. Ud® i § Faide] &1 YW1 & §206R 11 8ld & ol 9d Xd &1 Ha&fd J 3 I&d o

4, 3ifq e U9 Ta & farieig Faiey 9= (1) & 90 31 HHfd &al & & 3aaei-d [aard
& fAmio | saae il &1 Uid ddl o

Options :

21052951137. 1
21052951138. 2
21052951139. 3
21052951140. 4

Question Number : 86 Question Id : 21052912966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List 11

List | List 11

A. spd |l. BrFs

B. dsp? Il. PFs

C. sp3d? 1. [PtCla)®

D. d’sp” IV. [Co(NH3)sl**

Choose the correct answer from the options given below:

VA=ILEB=ULG-0Y, D=
ZA-NLB-ILC-I,D-IV
3A-NILB-ILC-IV,D-I
4 A-1LB-ILC-I,D-IV

Options :

21052951141. 1
21052951142, 2
21052951143. 3
21052951144. 4
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Question Number : 86 Question Id : 21052912966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 &I Gl -1 § gaferd Pifer :

gl -| ol -1l

A. spd . BrFs

B. dsp? II. PFs

C. spid? |11, [Pty

D. d’sp> IV. [Co(NH3)s]**

e R e R e T

LA-ILB-U,C-IV, D-I
2Z2A-1LB-ILC-I, D-IV
3.A-NLB-ILC-IV, D-I
4 A-1LB-IILC-I, D-IV

Options :

21052951141. 1
21052951142, 2
21052951143. 3
21052951144. 4

Question Number : 87 Question Id : 21052912967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

~
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:

In the given equation

Phosphorus is undergoing oxidation as well as reduction.

P, + 30H +3H,0 — PH, + 3H,PO,

Reason R:

The phosphorus of PH3 is in +3 oxidation state and it is converted to -1 oxidation state in
H>PO;™,

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052951145. 1
21052951146. 2
21052951147. 3
21052951148. 4

Question Number : 87 Question Id : 21052912967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Hd gl By RU MU B . Udh I AHDHYA (A) R G B ddb (R) el T4 5
HHDHYA (A) : FGT T FHiH0 H BRORY RS0 & FY-T1Y Iuag Hl S w1 8

P, + 30H +3H,0 — PH, + 3H_PO;

dd (R): PH; H BIEHRY +3 AP0 AT H 8 HR T8 H,PO»™ H -1 HIGHIH0l a1 §

yfafdd gl Jar 8|

Iugad Byl @ AT H Fgifed [dheal § 9 98l ST g4 ;

1. (A) 3R (R) THI T8 & 3R (R), (A) B! TSI =T B

2. (A) 3R (R) GHI U&1 & U3 (R), (A) B! Ue! AARSAT ! o
3. (A) 9ol 8 U] (R) Ul el g

4. (A) Tel 61 & W (R) He1 &

Options :

21052951145. 1
21052951146. 2
21052951147. 3
21052951148. 4

Question Number : 88 Question Id : 21052912968 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List |

List Il

A. Combination reactions

L. Cry0; (s) + 2A1(s) i- ALOj3 (s) = 2Cr (s)

B. Decomposition reactions

I 2KCIOs () —= w 2KCI(s) + 303 (g)

C. Non-metal displacement

I CHy (@) = 205 (@) —2w €O (g) + 2H:0 ()

D. Metal displacement

V. 2Fe () = 3H,O () iﬁ- Fex03 () + 3H; (g)

Choose the correct answer from the options given below:

TLA-ILB-I,C-IV,D-I
A=W, B=ILC=-LD=N¥

A=-NLB=ILC-1V, D=
4 A-ILB-lLC-I,D-1IV

Qcollegeduniaa
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Options :

21052951149. 1
21052951150. 2
21052951151. 3
21052951152. 4

Question Number : 88 Question Id : 21052912968 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T - B -1 Qg PR

i -l gl -1
A. TGS b
JfHfsHaT Cr03 (s) = 2A1(s) ———= AlO; (s) = 2Cr (s)

m
C. 3fYTq famu

B. O iyl |Il. JKCIO; (s) i- JKC1 (s) + 305 (2)

CH; (g) = 205 (2) i- COs (g) + 2H,0 (1)

V.
D. ¢7q fawimaA

e (s) ~ 3H,0 ()

——» Fes0: (s)+ 3Hs ()

T feu 7T fadedl H 9§ 98 SR AU

LA-ILB-U,C-1IV, D-I
ZA=-lILB=1LC-| D=V
3.A-NILB-ILC-1V, D-I
4 A-I,LB-IILC-1, D-IV

Options :

21052951149. 1
21052951150. 2
21052951151. 3
21052951152. 4

Question Number : 89 Question Id : 21052912969 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Among LiH, NaH, KH, RbH, CsH, the correct order of increasing ionic character is

1. LiH > NaH > CsH > KH>RbH

2. RbH > CsH > NaH > KH > LiH
3. LiH < NaH < KH < RbH < CsH
4. NaH » CsH > RbH > LiH > KH

Options :

21052951153. 1
21052951154. 2
21052951155. 3
21052951156. 4

Question Number : 89 Question Id : 21052912969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LiH, NaH, KH, RbH, CsH T 3151 Il & d9¢- &1 Ual H W1 o

1. LiH > NaH > CsH > KH > RbH
2. RbH > CsH > NaH > KH > LiH
3. LiH < NaH < KH< RbH < CsH
4. NaH > CsH > RbH > LiH > KH

Options :

21052951153. 1
21052951154. 2
21052951155.3
21052951156. 4

Question Number : 90 Question Id : 21052912970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il

A. H and O l. used in the name of perhydrol

B. D;0O Il. can be used in cutting and welding
C. H,0> lll. atomic reactor

D.H IV. produced from electrolysis of water

Choose the correct answer from the options given below:

TL.A-ILB-IILC-IV,D-I
2A-IV,B-IIlLC-1,D-1I
3A-IV,B-IIILC-1,D-1
4 A-ILB-LC-I,D-IV

Options :

21052951157. 1
21052951158. 2
21052951159. 3
21052951160. 4

Question Number : 90 Question Id : 21052912970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 &l g1 -1 § gaferd Piferg :

gl -| gl -1l

AH, RO, | UREIZSIA & 19 ¥ 39gi fehar aar g

B. D;0 I1. @1+ 3R 3fceT # %A fdar o ¥adl &
C. H,0; |11, THTT] RUaER

D.H V. T @ dydsiaded 9 Idifad

At feu e faseal H 9 98 I AU

TLA-ILB-IILC-IV, D-I
2A-IV,B-IIlLC-1, D-1l
FA-NV, B-IC-1l, D=]
4 A-1,LB-ILC-I, D-IV

Options :

21052951157. 1
21052951158. 2
21052951159. 3
21052951160. 4
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Question Number : 91 Question Id : 21052912971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following metal halides is soluble?

1. BeCl>
2. MgCl;
3. CaCl,
4, SrCl

Options :

21052951161. 1
21052951162, 2
21052951163. 3
21052951164. 4

Question Number : 91 Question Id : 21052912971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafaRad § 9 o 9 uid saiss go-siid 8 2

1. BeCl>
2. MgCl;
3. CaCls
4, SrCl5

Options :

21052951161. 1
21052951162. 2
21052951163. 3
21052951164. 4

Question Number : 92 Question Id : 21052912972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L}
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Match List | with List Il

List | List 1l

A. Na . Brick Red
B.Cs II. Yellow
C.Ca 1l. Blue
D.K IV. Lilac

Choose the correct answer from the options given below:

A= 1L B=1L L=V, =]
2A-IV,B-IIILC-|,D-Il
3A-IV,B-IIILC-1,D-1
4 A-1LB-IL,C-I,D-WV

Options :

21052951165. 1
21052951166. 2
21052951167. 3
21052951168. 4

Question Number : 92 Question Id : 21052912972 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 &I g1 -1 § gaferd Piferg :

Il -| i -1l

A. Na . 3¢ oI ATd
B.Cs 11, e

C.Ca 111, AT

D.K V. §THT SBIeH

TLA-ILB-ILC-1V, D-I
ZA-I,B=-ILC=), D=1
3A-IV,B-IIlLC-1l, D-1I
4 A-1,LB-ILC-I|, D-IV

Options :

21052951165. 1
21052951166. 2
21052951167. 3

~

T

collegedunia:

India’s largest Student Review Platform



21052951168. 4

Question Number : 93 Question Id : 21052912973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Schottky defect is observed in crystals when

1. Some cations move from their lattice site to interstitial sites.

2. Equal number of cations and anions are missing from the lattice.
3. Some lattice sites are occupied by electrons.

4. Some impurity is present in the lattice.

Options :

21052951169. 1
21052951170. 2
21052951171. 3
21052951172. 4

Question Number : 93 Question Id : 21052912973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
S fobtea § T Y ¢@l 9dl &

1. DS Y YD s Uige 4 AGUHRN G5y W 0d o
2. Sici § GHM Y10 3R FOgE &1 9% 149 gl
3. DY WD Gigel UR goidgi-l gRT desll dR ol

4, ST H 9 HYSdl HG ol

Options :

21052951169. 1
21052951170. 2
21052951171. 3
21052951172. 4

Question Number : 94 Question Id : 21052912974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statements is incorrect?

1. A depressant prevents certain type of particles to come to the froth.

2. Copper matte contains Cu;S and FeS.

3. The solidified copper obtained from reverberatory furnace has blistered appearance due to
evolution of SO; during the extraction.

4. Zinc can be extracted by self-reduction.

Options :

21052951173. 1
21052951174. 2
21052951175. 3
21052951176. 4

Question Number : 94 Question Id : 21052912974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fFaffEd | 9 &9 91 $Y9 TTad &2

1. U HGHIG P& YOR & U Bl AN &1 9§ Addl 8

2. IR AT H CusS 3R FeS BId &1

3. QRIGARH Hg1 ¥ I 31 arF Bhial ofdl fa@rs adl & adiid HSpyUl & GRH SO, & Fdy
gor el

4, i W-3g9g- ¥ T 51 9ol |

Options :

21052951173. 1
21052951174. 2
21052951175. 3
21052951176. 4

Question Number : 95 Question Id : 21052912975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Extraction of chlorine from brine occur when

1. AGy, for the overall reaction is negative and Ey for overall reaction has negative value.
2. AGy, for the overall reaction is positive and Ey for overall reaction has negative value.
3. AGy, for the overall reaction is positive and Ey for overall reaction has positive value.

4. AGy, for the overall reaction is negative and Ey for overall reaction has positive value.
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Options :

21052951177. 1
21052951178. 2
21052951179. 3
21052951180. 4

Question Number : 95 Question Id : 21052912975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
JqUgad id (S13) 9 FaRIF ®I (AHE0 74 8idl &

1. 999 AfHfepar & U AG, Hud® & R 999 Hfifehar & T £, &1 TR 9 6

2. gy AT & U AG, PRIED & HR 99 Uil & fot £, 1 ToRIES 9H 8|
3. gAY Mfufehar & iU AG, TPRTHES & AR 999 ffehar & T £, &1 IHRIES AF 6
4, Ty ATl & U AG, THRIES § IR 99 Afufehal & T £, T GHRITED T 5

Options :

21052951177. 1
21052951178. 2
21052951179. 3
21052951180. 4

Question Number : 96 Question Id : 21052912976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In the preparation of compounds of Xe, Bartlett had taken O,"PtFg™ as a base compound due
to

1. Both O; and Xe have same size.

2. Both O; and Xe have same electron gain enthalpy.

3. Both Xe and O; are gases.

4. Both O; and Xe have almost same ionisation enthalpy.

Options :

21052951181. 1
21052951182, 2
21052951183. 3
21052951184. 4

Question Number : 96 Question Id : 21052912976 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
Xe & UIT®H] B G911 & (010, GRTC 7 02" PtFe @I YR & ©U H a1 uT Fite

1. GHI 05 3R Xe BT PR G4 B

2. GHf 0, 3R Xe & YU aae a4 Tl B
3. GHI Xe 3R 0, 1 B

4, GHT 0, AR Xe & THT TH 1 1G4 TUAT o

Options :

21052951181. 1
21052951182. 2
21052951183. 3
21052951184. 4

Question Number : 97 Question Id : 21052912977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a pyrophosphoric acid molecule, how many single and double bonds are present?

1. 3 double bonds; 9 single bonds

2. 2 double bonds; 6 single bonds

3. 2 double bonds; 12 single bonds

4, Zero double bonds; 12 single bonds

Options :

21052951185. 1
21052951186. 2
21052951187. 3
21052951188. 4

Question Number : 97 Question 1d : 21052912977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U UGG 3 U] H, foha- Udhd 3R G ey Hi9g 82

1. 3 fg® HEY; 9 THd HEY
2. 2 g MEY; 6 Thd &Y
3. 2 fg EY; 12 Thd &Y
4, I fgd €Y 12 Thd &Y
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Options :

21052951185. 1
21052951186. 2
21052951187. 3
21052951188. 4

Question Number : 98 Question Id : 21052912978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect for SO; gas?

1. It acts as bleaching agent in moist conditions.

2. It has non-linear geometry.

3. It's dilute solution is used as disinfectant.

4. It can be prepared by the reaction of dilute H,SO4 with metal sulphide.

Options :

21052951189. 1
21052951190. 2
21052951191. 3
21052951192. 4

Question Number : 98 Question Id : 21052912978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fofaRad & € &F 91 $Y9 7ad & 50, 19 & faw

1. 9g 94 fRufcal 7 faie tole & TU 5 o1 oidl

2. 39 3] ¥ R-3Eg saifafa

3. 3YHI Uqdl [aeg- BIRVHERS & ¥4 H I9gi [6a1 S 6|

4. g YT Gehlgs & Uy SHAYT H,50, &I HHshaT 9 d4R fiodr 51 9ohdi 8 |

Options :

21052951189. 1
21052951190. 2
21052951191. 3
21052951192. 4

Question Number : 99 Question Id : 21052912979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statement is true?

1. Interaction between particles of noble gases is due to weak dispersion forces.
2. lonisation enthalpy of molecular oxygen is very close to that of krypton.

3. Hydrolysis of XeFg is a redox reaction.

4. Xenon fluorides are not reactive.

Options :

21052951193. 1
21052951194. 2
21052951195. 3
21052951196. 4

Question Number : 99 Question Id : 21052912979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fFafafed & € &9 91 Y4 93 B

1. 3PP TGl F g1=afehal ®Ull § Wk GRA&T §d & BRI eidl 6 |
2. HTUTfdeh SHiadior @1 H1g=H Taudl fohp= & 9gd Hd o

3. XeF; @19 30y U Y8169 Uiafhar g

4, foR1A wIRISS sifuforariia gl 8 |

Options :

21052951193. 1
21052951194. 2
21052951195. 3
21052951196. 4

Question Number : 100 Question Id : 21052912980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Zirconium belongs to 4d transition series and Hafnium to 5d transition series but still they
shows similar physical and chemical properties because

1. both belong to d-block.

2. both have same number of electrons.

3. both have similar atomic radius.

4. both belong to the same group of the periodic table,

Options :

21052951197. 1
21052951198. 2
21052951199. 3
21052951200. 4

Question Number : 100 Question Id : 21052912980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SR®BITGH 4d YHHUT G R B-TH 5¢ hHUl H@a & Adid HIdl & ctib aiHl GHH
Hifas AR Tarafe U fewrd & #ife

1. Gl d-=iP d Jafdd B

2. GIFI § 3tiaeiFl & 9ea 99 g

3. GHF1 & GRHIY §9H & |

4, GHT 3f1ad SR & U &l 9HE 9 YelUd g |

Options :

21052951197. 1
21052951198. 2
21052951199. 3
21052951200. 4

Part III Biology 8
Section Id : 210529183
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
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Section Marks : 200

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529434
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 21052912981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following types of plastid does not contain stored nutrients?

1. Elaioplasts

2. Amyloplasts
3. Chromoplasts
4. Aleuroplasts

Options :

21052951201. 1
21052951202. 2
21052951203. 3
21052951204. 4

Question Number : 101 Question Id : 21052912981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FEdd oY d9e d UlND dd 99T Jal aid 7

1. TforaiEe
2. HHAOATERE
3. HIHTRE

4' "
Options :
21052951201. 1
21052951202 2

21052951203.3
21052951204. 4

Question Number : 102 Question Id : 21052912982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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E. coli growing in a medium containing radioactive thymidine was allowed to grow in normal
medium (without radioactive thymidine) for two generations. What percentage of bacteria will
have radioactive DNA strand?

1. 100%
2. 50%
3. 25%
4.12.5%

Options :

21052951205. 1
21052951206. 2
21052951207. 3
21052951208. 4

Question Number : 102 Question Id : 21052912982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Faiars <1 vifeal # 94 & fou Aeanfeeg ysHeH arem § gmrga: (fear 33t ufees
yIEHIEH) # 8idT o1 fpaa ufawd Saeiar & eyl ufdeq Siua €< e

1. 100%
2. 50%
3. 25%
4.12.5%

Options :

21052951205. 1
21052951206. 2
21052951207. 3
21052951208. 4

Question Number : 103 Question Id : 21052912983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Asexual spores are generally NOT found in

1. Ascomycetes

2. Basidiomycetes
3. Zygomycetes

4. Deuteromycetes

Options :
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21052951209. 1
21052951210. 2
21052951211..3
21052951212. 4

Question Number : 103 Question Id : 21052912983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e WR U Ay A Agfuu Sd & 2

1. 9% BhG

2. SISl Bbg
3. S1IgT g

4. 3T¢ RS
Options :
21052951209. 1
21052951210. 2

21052951211. 3
21052951212. 4

Question Number : 104 Question Id : 21052912984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List 11

A. Schleiden and Schwann|l. Chromatin

B. Rudolf Virchow lIl. Nucleus

£ Flemming f.III. Cell theory

D. Robert Brown ;W. Omnis cellula-e cellula

Choose the correct answer from the options given below:

LA-N,B-IWV,C-1,D-Il
ZA-1Il,B-I1,C-IV,D-1l
A= B=N, L= D=
4 A-1,LB-1LC-IV,D-|

Options :

21052951213. 1
21052951214. 2
21052951215. 3
21052951216. 4
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Question Number : 104 Question Id : 21052912984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-] -1l

A AR S 3R YA . BIERH

4. $eich fadl Il PED

. GAfHT 1, DIkt fagia

G. X€c 13 V. HHET e - 3 - dqa

1.H-,€d-1V,9-1,G-1l
2.3-11,9-1,9-1vV,q-1ll
3.H-IL,F-1IV,I9-11, G-
4 HA-|I,d-11l, -1V, G-

Options :

21052951213. 1
21052951214. 2
21052951215.3
21052951216. 4

Question Number : 105 Question Id : 21052912985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following has least similar characters?

1. Family
2. Genus
3. Class

4. Species

Options :

21052951217. 1
21052951218. 2
21052951219. 3
21052951220. 4

Question Number : 105 Question Id : 21052912985 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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g Aderg e aadfa s e?

1. UREGR
2. 99
3. g7
4. J1fd

Options :

21052951217. 1
21052951218. 2
21052951219.3
21052951220. 4

Question Number : 106 Question Id : 21052912986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Red tide is caused by

1. Gonyaulax
2. Ceratium
3. Euglena

4, Navicula

Options :

210528951221, 1
21052951222, 2
21052951223. 3
21052951224, 4

Question Number : 106 Question Id : 21052912986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT AR Bl © :

1. SIS
2. RIEgw
ERIUIE

4, Fdipar
Options :
21052951221. 1
21052951222, 2

21052951223. 3
21052951224. 4
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Question Number : 107 Question Id : 21052912987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct with respect to ecological pyramids?

A.The base of each pyramid represents the producers or the first trophic level while the apex
represents tertiary or top-level consumer.

B.The pyramid of energy is always upright.

C.A given species can occupy only one trophic level in the same ecosystem at the same time
D.The pyramid of number in tree ecosystem is upright.

E.Saprophytes are not given any place in ecological pyramids

Choose the correct answer from the options given below:

1. A, B, COnly
2.A CD,EOnly
3. B, D Only

4. A B, EOnly

Options :

21052951225. 1
21052951226. 2
21052951227. 3
21052951228. 4

Question Number : 107 Question Id : 21052912987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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g H 9 @ 4 oY UGS iRIAs & deH H 98l ¢ -

3. g3 TIRIHE &1 3R <3iaT & f Sg®! o1 UuH Uifpdhal T3 Jaid 9y U= 3] 41 3
SUHIE

q. Sofl BT (RIHS THI SN BT R Bl &

9. U Sifd Sac IRRUST o H Pact o UIfPHdl TR R TP & FHU H 8ldl &
. Us yfifufae 47 & do fiRifis W @ iR edr &

7. uRfRuf@! & & WRIGEeT & 35 WH 6l 6

fau ¢ fadedl # 9 UE SR 94 :

1. Had A, gau g
2. PIA A, G Gauld
3, HAA G AU §

R 1 [ s )

Options :

21052951225. 1
21052951226. 2
21052951227. 3
21052951228. 4

Question Number : 108 Question Id : 21052912988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
First clinical gene therapy was given in 1990 to a 4-year old girl child for treating

1. Insulin dependent diabetes

2. Phenylketonuria

3. Cystic fibrosis

4. Adenosine deaminase deficiency

Options :

21052951229. 1
21052951230. 2
21052951231. 3
21052951232. 4

Question Number : 108 Question Id : 21052912988 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1990 # Ugd aR W4 fed te IR 99 &f 9=t &1 IU9R [5a1 T

1. 3gIeH 1eTid HeHE

2. ftprga favet =g

3. e wrRag

4, TSI SIS & Sl

Options :

21052951229. 1
21052951230. 2
21052951231. 3
21052951232. 4

Question Number : 109 Question Id : 21052912989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A plant bends towards the source of light when exposed to light on only one side. Which of
the following is the best explanation of the phenomenon?

1. They need light for photosynthesis

2. The apices of their stems are attracted by light

3. Some auxin accumulates on the shaded side to induce greater cell elongation on that side
4. Light stimulates the celis on the illuminated side to increase in length

Options :

21052951233. 1
21052951234. 2
21052951235.3
21052951236. 4

Question Number : 109 Question Id : 21052912989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o8 U Q14T TR &1 3R G3dl o | Mg & 9 @ - O oarsy oY= & fau 964 39gad o

1. 38 USRI U] & (78 TR S HaadHdl aidl o

2. F1 B AT BR UG B AR AHiNd sidl 8l

3. S AR SHGI BIAT & o BIRAPT Felad! BT sgal o

4. 759 9dg W USRI USdl & 96l @1 DIADIE 319 sial o

Options :

21052951233. 1
21052951234. 2
21052951235. 3
21052951236. 4
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Question Number : 110 Question Id : 21052912990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Blood vessel carrying blood away from glomerulus in a mammalian nephron is called

1. Renal artery

2. Efferent arteriole
3. Afferent arteriole
4, Vasa recta

Options :

21052951237. 1
21052951238. 2
21052951239. 3
21052951240. 4

Question Number : 110 Question Id : 21052912990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TAURT A% J |y 9 Yad Afdais & G o o dral

1. 390 YHAT
2. AugTe! Y=l
3. Q! YAl
4, 9T &<

Options :

21052951237. 1
21052951238. 2
21052951239. 3
21052951240. 4

Question Number : 111 Question Id : 21052912991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The bark of a girdled tree (upto phloem) may become swollen after a few weeks because

1. Water will not move upwards

2. Water will not move downwards

3. Sugars and other organic materials will not move downwards
4. Sugars and other organic materials will not move upwards

Options :
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21052951241. 1
21052951242, 2
21052951243, 3
21052951244. 4

Question Number : 111 Question Id : 21052912991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
PG BT US DI BIA (FILH TP) P& Ile P 616 B ol o, i

1. UH SR I AR Ta] dedl o

2. Ut Hid @1 3R o) 91dl 6|

3. 91 dYT 3 BIa® gard 9id ®i 3R Jal 9id 6
4, 911 9UT 39 BIED Gard W P 3R el 9¢dl o

Options :

21052951241. 1
21052951242. 2
21052951243. 3
21052951244. 4

Question Number : 112 Question Id : 21052912992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List 11
A.Clavicle |l. Pelvic girdle

B.Femur [ll. Knee cap
C.Ischium [lIL.Thigh bone
D.Patella |IV. Pectoral girdle

Choose the correct answer from the options given below:

1. A-IV, B-lll, C-1, D~
2. A-IV, B-l, C-lil, D-1I
3. A-ll, B-1, C-1V, D-llI
4. A-lll, B-1V, C-1, D-lI

Options :

21052951245. 1
21052951246. 2
21052951247. 3
21052951248. 4
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Question Number : 112 Question Id : 21052912992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 &I Gl -1 § gaferd Pifer :

gl -| Il -1l

3. gl . Ofcass s
q. B 11 g @] el
g, 3femH . wrg B gt
. gical v. QaeRd afsa

1.A-IVd-1ILF-1, -l
2H-IVd-1,F-1l, -1l
3H-ILE-L"-IV, q- 1l
4 -, €d-1V.H-1, -1l

Options :

21052951245. 1
21052951246. 2
21052951247. 3
21052951248. 4

Question Number : 113 Question Id : 21052912993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The spread of living pteridophytes is limited and restricted to narrow geographical regions
because

1. Gametophytes are dependent on sporophytes

2. Sporophytes require cool, damp place to produce gametes
3. Gametophytes require cool, damp and shady places to grow.
4. They do not need water for fertilisation

Options :

21052951249. 1
21052951250. 2
21052951251. 3
21052951252. 4

Question Number : 113 Question Id : 21052912993 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

T

collegedunia:

India’s largest Student Review Platform



Correct Marks : 4 Wrong Marks : 1

shifdd eRSIBIZed &1 U dgd o) YiiHd YHFT &3 H ard gidl &, difd

1. METPSed WRIGEY & HUR 3T g1

2. TRIBECY & 1He Ugl @ & [oU 381 AR T9&H
3. fHEIBTRed B 331, 79 3R SHIGR e 96 & fad
4, 9= & fou 5= UHl @1 SaEHal Fal 9lfeT

Options :

21052951249. 1
21052951250. 2
21052951251. 3
21052951252. 4

Question Number : 114 Question Id : 21052912994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct regarding the structure of contractile proteins?
A. Myosin is a thick filament which is also a polymerized protein

B. The globular head of meromyosin is called the light meromyosin (LMM)

C. Actin is a thin filament and is made up of two F- actins

D. The complex protein, tropomyosin is distributed at regular intervals on the troponin

E. Two filaments of troponin run close to F actins

Choose the correct answer from the options given below:

1. A, B Only
2. A D, EOnly
3. A, COnly
4. B, C, D Only

Options :

21052951253. 1
21052951254. 2
21052951255. 3
21052951256. 4

Question Number : 114 Question Id : 21052912994 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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g A3 o9 - Yoy Rips guudH » Gl H Odl &

3. AISUIRH U HIST M 8 ol UiciFRgss HidH Hi 8|

4. HEUYEH $1 MeeR 71§ gwb] IRMEANH (T4 T4 TH) deald o
9. Ufde U Tdam 3= & i & - U Ufde & &1 5 g

. BioA UIdH, TUHIGR- U@ TR add & 816 2gi-- M1l g |

7. 219 & & fhaiic Uh - Yde i S ey Ieid B,
faeedl # 9 91 IR 9 -

1. 3 9YT & had
2. ¥, G aur g &ad
3. HdYT g daa
4.9, QAU haqd

Options :

21052951253. 1
21052951254. 2
21052951255. 3
21052951256. 4

Question Number : 115 Question Id : 21052912995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following spermatogenetic stages in a human male

A. Spermatids

B. Spermatocytes

C. Spermatogonia

D. Spermatozoa

Choose the correct sequence of spermatogenetic stages in a mature human testis

1.ACBD
2.CBAD
3.D,CBA
4. CBDA

Options :
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21052951257. 1
21052951258. 2
21052951259, 3
21052951260. 4

Question Number : 115 Question Id : 21052912995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R guUl & BT S D1 Ulchal DI Gl HH H o :

3, TRACS

4. ERACYRRY

. TR

. ERHCTSS

U URUS HHd guul H B0 TR0N &1 Gal H gfHU ;

1.4,949
299 3, g
3.G, 4,49, 3
49 9 ¢ 3

Options :

21052951257. 1
21052951258. 2
21052951259. 3
21052951260. 4

Question Number : 116 Question Id : 21052912996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Radial symmetry is found in

1. Sponges, Coelenterates, Ctenophores

2. Annelids, Porifera, Platyhelminthes

3. Coelenterates, Ctenophores, Echinoderms

4. Coelenterates, Ctenophores, Platyhelminthes

Options :

21052951261. 1
21052951262. 2
21052951263. 3
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21052951264. 4

Question Number : 116 Question Id : 21052912996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fega guEudI o 9rd &

1. T, fye=<e, FeeRy

2, TS, URIhT, WidleedTg
4, faa=e, Ry, T

Options :

21052951261. 1
21052951262. 2
21052951263. 3
21052951264. 4

Question Number : 117 Question Id : 21052912997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What will happen if the secretion of peptic or chief cells of gastric glands is blocked with an
inhibitor?

1. Gastric juice will be deficient in chymotrypsin

2. Gastric juice will be deficient in pepsinogen

3. Gastric juice will be deficient in mucus and bicarbonates

4. In the absence of HCl secretion, inactive pepsinogen is not converted into active enzyme
pepsin

Options :

21052951265. 1
21052951266. 2
21052951267. 3
21052951268. 4

Question Number : 117 Question Id : 21052912997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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&1 BRI AfG IRe® 41 @I Seieie g1 Hae ®X 64l oY ;

1. PIOHEEEA H AfeH 08 BH e

2. TafiHiom & HfE® oF &9 e

3. @3 - DIHC U4 oy H I ® o &H sl

4, HCl & T1d @1 HH1 & HRUI HA%py GdiHieH & fharsita ot J 981 dgaq

Options :

21052951265. 1
21052951266. 2
21052951267. 3
21052951268. 4

Question Number : 118 Question Id : 21052912998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Triple fusion in angiosperms is the fusion of second sperm with

1. Antipodal cell and one synergid cell
2. Two antipodal cells

3. Two synergid cells

4. Two polar nuclei

Options :

21052951269. 1
21052951270. 2
21052951271. 3
21052951272. 4

Question Number : 118 Question Id : 21052912998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

feus wgeH Ul sigusiel urel H gER W4 & 91y fHeH

1. @WEUISd DIRIB] T4 U HIgARI0S DI
2. T Gdiuisd il

3. T GRS DI

4. G UIeR D!

Options :

21052951269. |

21052951270. 2

21052951271.3
21052951272. 4
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Question Number : 119 Question Id : 21052912999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In Hatch and Slack pathway, carboxylation of RuBP and decarboxylation of Cs acid occurs in

1. Mesophyll cell and bundle sheath cells, respectively
2. Bundle sheath cells and mesophyll cells, respectively
3. Both in mesophyll cells

4, Both in bundle sheath cells

Options :

21052951273. 1
21052951274. 2
21052951275.3
21052951276. 4

Question Number : 119 Question Id : 21052912999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
6d U4 WP UIUd H RuBP BT BIEIGIITRH 3R C, Tl fSHEIeaaRH 8idl 6 -

1. UUIHEd® gl ssd JH SIS § HH:

2. §5d W SIRIGT AR guiHeas SIS 3 Ha:
3. QUiHEIa® DIRAD! J gl &

4, G 8 ssaH BIRIDT H

Options :

21052951273. 1
21052951274. 2
21052951275. 3
21052951276. 4

Question Number : 120 Question Id : 21052913000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:

Statement I: Down's syndrome is a genetic disorder due to the presence of an additional copy
of the chromosome number 21 (trisomy of 21).

Statement II: The affected individual is short statured with small round head, is sterile and
expresses Gynaecomastia,

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false
3. Statement | Is true but Statement |l is false
4, Statement | is false but Statement |l is true

Options :

21052951277. 1
21052951278. 2
21052951279. 3
21052951280. 4

Question Number : 120 Question Id : 21052913000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SIEEALAIE Rk

HYA - | URF YA 21 H U Hfdivad S1dl s+ ¥ 3134 RigH Ua H{dalRe I 3|
HYA - || : MAB MR I 3fd Afdd H BIel dg AR Biel 1d RR JuT T4gadl sidl g
94 HYH| & HTaid | FERiRed fadedl # 8 el IR 9 -

1. ®YF | 3R | T 9 B

2. ®YF | 3R || GET AEA B

3. YT | ¥ &, fo] HUF 11 3T
4, Y| T ©, [P HYF 11 I B

Options :

21052951277. 1
21052951278. 2
21052951279. 3
21052951280. 4

Question Number : 121 Question Id : 21052913001 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List Il

A. Bicuspid (mitral) valve |. Between right atrium and right ventricle
B.Aortic semilunar valve |l. Between left atrium and left ventricle

C. Tricuspid valve lll. Between right ventricle and pulmonary artery
D. Pulmonary semilunar valve|lV.Between left ventricle and aorta

Choose the correct answer from the options given below:

1. A-ll, B-1V, C-lll, D-I
2. A-ll, B-1V, C-1, D-lll
3. A-lll, B-I, C-ll, D-IV
4. A-ll, B-lll, C-IV, D-|

Options :

21052951281. 1
21052951282. 2
21052951283. 3
21052951284. 4

Question Number : 121 Question Id : 21052913001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gl -1 DI Gl -1l G gHfed $ifog :

Il -| g -1
3. SRPIRUS () ared |1 Q¢ 3ifiE 3R 1 Raa & A
4§, 3RfeH FHIGR dlca 11 1Y 3ffei SR g FAag & 7Y

Y. TRHRYS alcd 111, &1 e 3R wHR Y9 & 599
5. WA R dred \v. 97U AT 3R 3maie] & 7349

1.H-ILd-IV,H-1Il, G-
2H-ILd-IV,'-1,&-1l
3H-IL,E-1L"-1l, G-IV
4. 34-11,9-1,9-1V, G-

Options :
21052951281. 1

~
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21052951282, 2
21052951283. 3
21052951284. 4

Question Number : 122 Question Id : 21052913002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The best breeding method used for animals that are below average in productivity is

1. Cross-breeding

2. Interspecific hybridization
3. OQut-crossing

4. Inbreeding

Options :

21052951285. 1
21052951286. 2
21052951287. 3
21052951288. 4

Question Number : 122 Question Id : 21052913002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HNGd Y B IdTGdHal & (o8 U= H I W fafd 8 -

1. UR US4
2. JHdfaftgd H3o
3. dipx} Yyl

4, HdRE® U=

Options :

21052951285. 1
21052951286. 2
21052951287. 3
21052951288. 4

Question Number : 123 Question Id : 21052913003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The phenomenon of ‘Industrial Melanism' demonstrates

1. Natural selection

2. Geographical isolation
3. Reproductive isolation
4, Lamarckism

Options :

21052951289. 1
21052951290. 2
21052951291. 3
21052951292. 4

Question Number : 123 Question Id : 21052913003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
RIS A B UeH1 GRIdl 8 :

1. Wi idd 95+

2. YT eee
3. USlH- 3{cHTg
4, A1

Options :

21052951289. 1
21052951290. 2
21052951291. 3
21052951292. 4

Question Number : 124 Question 1d : 21052913004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L ]
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Given below are two statements:
Statement I: A population growing in a habitat with limited resources show logistic growth.

Statement lI: Any species growing under unlimited resource conditions can reach enormous
population densities in a short time,

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement |l is true

Options :

21052951293. 1
21052951294. 2
21052951295. 3
21052951296. 4

Question Number : 124 Question Id : 21052913004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tog eyt
BYF - | : TP A § 9= 31 delddl difdd Wid J aifd® e 3 gidl
DY - || : DI U Sifa EHG Wi 3 IuiTd J YR S99% 99d H $H9HT §eids) aidl o

Suddd HYAl & Hidie H Rafifed fasedl § 9 98 SR g4 :

1. Y| 3R || T I B

2. BYA | 3R 11 GET AT 3

3. ®Y |1 9 &, foq Y9 11 T B
4, Y| I 7, g oy 1 9 B

Options :

21052951293. 1
21052951294. 2
21052951295. 3
21052951296. 4
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Question Number : 125 Question Id : 21052913005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A population in Hardy-Weinberg equilibrium consists of 300 sheeps, some black some white. If
the allele frequency for the recessive allele is 0.3, how many black sheep are there in the
population?

1. 210
2. 273
3. 90
4. 27

Options :

21052951297. 1
21052951298. 2
21052951299. 3
21052951300. 4

Question Number : 125 Question Id : 21052913005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
“BTSI-Ta-at] Sqo @1 o9l H 300 HS & forgH 8 9 30 dIdl & AR Tdid HTddd]
i el & AU 0.2 © d 99 | diell U &1 43 fad-l 8 -

1. 210
2. 273
3. 90
4. 27

Options :

21052951297. 1
21052951298. 2
21052951299. 3
21052951300. 4

Question Number : 126 Question Id : 21052913006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

~

T

collegedunia:s

India’s largest Student Review Platform



Which of the following statement is/are incorrect regarding polysaccharides?
A. Inulin is a polymer of fructose

B. Both starch and glycogen are present as store house of energy in plant tissue
C. Glucose is a monomer of cellulose

D. Cellulose is a homopolymer while chitin is a heteropolymer

E. Starch does not contain complex helices and hence cannot hold 12

Choose the correct answer from the options given below:

1. A, B, C Only
2. B, D, E Only
3. B, EOnly

4. B, C, D Only

Options :

21052951301. 1
21052951302. 2
21052951303. 3
21052951304. 4

Question Number : 126 Question Id : 21052913006 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ui PRIZS & &R | dIH 9/ 4 HY- Hel 7ol 6 ?

¥, S haeis & 950 o

4. WY 3R TASPIo Sl 51 d P aig Uit & 30d H 8dl o
. i, qairsl d1 AR

. Yqaiiol U Uhey 950D o aid Plgic- UD ool Sgaid o
4. T H Sifed gfte el glaT foad 318 2 31 s el Fabell
fau U famedl # § wel fdded 9 -

1. 3, § 9YT 9 Had
2. €, G aYr g &ad
3. § YT g Had

4.9, gAYl g &ad
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Options :

21052951301. 1
21052951302. 2
21052951303. 3
21052951304. 4

Question Number : 127 Question Id : 21052913007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following steps involved in plant breeding

A. Cross hybridisation among the selected parents

B. Selection and testing of superior recombinants

C. Collection of variability

D. Testing, release and commercialisation of new cultivars

E. Evaluation and selection of parents

Choose the correct sequence of steps involved in plant breeding

1. ACED,B
2.C,BAED
3. A,CB,D,E
4 CEABD

Options :

21052951305. 1
21052951306. 2
21052951307. 3
21052951308. 4

Question Number : 127 Question Id : 21052913007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Uiy Yo+ H ®eH M & -

3. UR Y01 H 99id gdal

§. 9919 3R UR&U H 95k §F: YUIoid

4. URad-Eiicd &1 998

<. gike, RRETg SR T Wider &1 AGHigaia

4. Yduil &1 Hedi Td 98

el H &I [ddcd U1y Us=- H UIHT SeH! &1 99 By ;

1. 4,949 ¢4d
249,69 349, ¢
3.9, 4, 4¢3
499 3,494,

Options :

21052951305. 1
21052951306. 2
21052951307. 3
21052951308. 4

Question Number : 128 Question Id : 21052913008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List Il

A. Class Aves |. Presence of air bladder

B.Class Chondrichthyes|ll.Circular and sucking mouth

C. Class Osteichthyes [lll. Air cavities in bones

D. Class Cyclostomata |IV.Absence of operculum

Choose the correct answer from the options given below:

1. A-IV, B-l, C-ll, D-HI
2. A-ll, B-1IV, C-1, D-llI
3. A-lll, B-1, C-IV, D-lI
4. A-lll, B-IV, C-1, D-lI

Options :
21052951309. 1
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21052951310. 2
21052951311. 3
21052951312. 4

Question Number : 128 Question Id : 21052913008 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 &I Gl -1 § gaferd Pifer :

gl - gl -1l

31 3 - ueft |. a1 AR &I BT
9. 3 - By 1. T @ I8 aTel He
g, 3 - ANRegaidg 1. ¥l 9 arg Terd
5. 91 - EadeEre] V. HRPSH DI AHHE

LH-IV,E-L,F-1I,&-
2 -IL,d-IV,F-1, -1
3.H-1L,Ed-1,"9-IV, G-Il
4. -1, d-1V,H-1, -l

Options :

21052951309. 1
21052951310. 2
21052951311. 3
21052951312. 4

Question Number : 129 Question Id : 21052913009 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which part of the plant is best suited for making virus free plants during tissue culture

method?

1. Ovule

2. Embryo

3. Anther

4, Shoot meristem

Options :

21052951313. 1
21052951314. 2
21052951315. 3
21052951316. 4
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Question Number : 129 Question Id : 21052913009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fa® Gguq fafy & gref &1 fqu] Gad 991 & o 01d &1 14 91 47T 969 39904 6 ?

1. g

2, YUl

3. RATHIR
4, I AREH

Options :

21052951313. 1
21052951314. 2
21052951315.3
21052951316. 4

Question Number : 130 Question Id : 21052913010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following phases of cell cycle

A.S

D.M
Choose the correct sequence of phases of cell cycle

1.CABD
2.D,BAC
3. ACBD
4 CADB

Options :

21052951317. 1
21052951318. 2
21052951319. 3
21052951320. 4

Question Number : 130 Question Id : 21052913010 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
gcollegedunlaa
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Correct Marks : 4 Wrong Marks : 1

DI Ih D dPp & [qug H :

3. TH
&, SR

9. Sl

.
HIRID 9% & 941 TP DI Tl PHH T ;

1.9 34,49 ¢
2.¢,49 3 9
3., 9, Q
4 4 3, g, d

Options :

21052951317. 1
21052951318. 2
21052951319. 3
21052951320. 4

Question Number : 131 Question Id : 21052913011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
According to Central Pollution Control Board (CPCB), which particulate size in diameter (in
mm) of the air pollutants is responsible for greatest harm to human health?

1. 3.0 or less
2.4.0 or less
3. 2.5 or less
4, 3.5 or less

Options :

21052951321. 1
21052951322. 2
21052951323. 3
21052951324. 4

Question Number : 131 Question Id : 21052913011 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Hs1g Ugyul AU €13 (CPCB) & 4R, a1 Ugua! & oy (i ) # frg &u1 @1 3eR 54
Wy & o ged Y JHaH & fod forEeR 82

1.3.0 71 398 H9
2. 40713949 B9
3. 2591394 &Y
4,351 399 F9

Options :

21052951321. 1
21052951322. 2
21052951323. 3
21052951324. 4

Question Number : 132 Question Id : 21052913012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statement is/are correct regarding red algae?
A. Asexual reproduction takes place by motile spores

B. Sexual reproduction may be isogamous, anisogamous or cogamous
C. Food is stored in the form of floridean starch

D. They are called red algae because of the predominance of the red pigment, r-phycoerythrin
in their body

E. They possess chlorophyll a and d
Choose the correct answer from the options given below:

1. A B, COnly

2. A, B, D, EOnly
3. B, E Only

4.C, D, EOnly

Options :

21052951325. 1
21052951326. 2
21052951327. 3
21052951328. 4

Question Number : 132 Question Id : 21052913012 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

IS Qa1 & GaH H B - 9/ DY T8l g ?

3. 9aid fthRd TR & GRI AR 1P o sial 6|

4. AMSTFIHY, TSR 91 3H71HY di® 944 8l 9&ddl o

Y. TINISH €Id & ¥4 H HioH US3 8idl o

<. Tt AT H I T D1 AfEDal YT 3R - B Ry §H & SR Bidl ¢
g. 378 FARIbd a YT b BT 8

feu U famedl # € 9l SR 94 -

1. 3, § 9UT § Had
2. ¥, 9, ¢ aquI g dad
3. § YT g Had

4.9 G aY g »aq

Options :

21052951325. 1
21052951326. 2
21052951327. 3
21052951328. 4

Question Number : 133 Question Id : 21052913013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List Il

A. Pusa swarnim |l. Bacterial blight
B.Himgiri I.White rust

C. Pusa Komal lll. Tobacco mosaic virus
D. Pusa Sadabahar|lV.Leaf and stripe rust

Choose the correct answer from the options given below:

1. A-ll, B-11l, C-IV, D-|
2. A-ll, B-1V, C-1, D-lII
3. A-lll, B-|, C-ll, D-IV
4. A-1ll, B-ll, C-IV, D-I

Options :
21052951329. 1
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21052951330. 2
21052951331. 3
21052951332. 4

Question Number : 133 Question Id : 21052913013 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T - g -1 A gRAR PR

T | g -1

3. g @ I. daRaT &1 ey

5. femfrd 1L, T g

Y. JH1 i 11, JETP Folds IRy

. 91 9aIeeR Iv. TRt SR et & Xgen

.H-10L,9-1,9-1V, G- |
2H-1l,d-IV, H-1, c-1ll
3. H-L,E-1L,9-1l, g- IV
4. 34-1,9d-1,F-1V, G-

Options :

21052951329. 1
21052951330. 2
21052951331. 3
21052951332. 4

Question Number : 134 Question Id : 21052913014 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:

Statement I: Bryophytes are also called amphibians of plant kingdom because they can live in
soil and are not dependent on water for sexual reproduction.

Statement Il: The main plant body of bryophytes is diploid and is called sporophyte.

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement |l is true

Options :

21052951333. 1
21052951334. 2
21052951335. 3
21052951336. 4

Question Number : 134 Question Id : 21052913014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tog eyt

HYF - | : FHGECY GHl § IYTR Bid & FIfe ™ U I/ & 3R Afe o & e ot )
i3 8l I8d B

&Y - 1| ; FATBECY &1 =7 U i3 giar & 34 WRIKGsey $ed ol
Suddd HYAl & Hidie H Rafifed fasedl § 9 98 SR g4 :

1. Y| 3R || T I B

2. BYA | 3R 11 GET AT 3

3. ®Y |1 9 &, foq Y9 11 T B
4, Y| I 7, g oy 1 9 B

Options :

21052951333. 1
21052951334. 2
21052951335. 3
21052951336. 4
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Question Number : 135 Question Id : 21052913015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statement(s) is/are not correct regarding lysosomes?

A. The hydrolytic enzymes of lysosomes are active under alkaline pH

B. Lysosomes are membrane bound structures

C. Lysosomes are formed by the process of packaging in the endoplasmic reticulum
D. Lysosomes have numerous hydrolytic enzymes

Choose the correct answer from the options given below:

1. A Only

2. B, D Only
3. A, D Only
4. A, COnly

Options :

21052951337. 1
21052951338. 2
21052951339. 3
21052951340. 4

Question Number : 135 Question Id : 21052913015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AEaH P GCH A B - 91/ S HYT T8l 781 o :

3. AU & gIEgdic® TaaH Uedlad pH & T 8id 8

. TEYNH Ue f3icel gad §XEH1 6

Y. UUSWIoH® Yedad | dIgarad gt $1 Uil & G §-d o |
g ag9gY ¥ 9gd 9R giaidicd Uigd aid ol

feu e fadcdl # 9 uel fadey 94 -

1. Bad 3

2, § dYI § dad
3. 3 qYI G Had
4, 3 9YT g Haq

Options :

~
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21052951337. 1
21052951338. 2
21052951339. 3
21052951340. 4

Question Number : 136 Question Id : 21052913016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List 1l

A. Boron . Splitting of water during photosynthesis

B. Manganese |ll. Synthesis of auxin

C. Molybdenumllll. Component of nitrogenase

D. Zinc IV. Pollen germination

Choose the correct answer from the options given below:

1. A-IV, B-, C-lll, D-I
2. A-ll, B-1, C-lll, D-IV
3. A-ll, B-lll, C-I, D-IV
4. A-lll, B-ll, C-IV, D-I

Options :

21052951341. 1
21052951342. 2
21052951343.3
21052951344. 4

Question Number : 136 Question Id : 21052913016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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-1 -1
3. aRH . BT 92aiuu § od faued
CR:UCIE] 11, ATfRg SRy
g, HifdfasaH 1. AZIY &1 3
. i@ V. AT 3TH H

1.H-IV,d-,F-,c-1l
2H-ILd-1L"9-1l, &~ 1V
3H-ILEg-N,9-1, G-IV
4 -1, d-1, -1V, -1

Options :

21052951341. 1
21052951342. 2
21052951343. 3
21052951344. 4

Question Number : 137 Question Id : 21052913017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Proteins encoded by genes crylAc and cryllAb control corn borer, that of crylAb
control the cotton bollworms

Statement Il: Bt toxin protein exist as inactive protoxins but once an insect ingest the inactive
toxin, it is converted into an
active form of toxin due to the alkaline pH of the gut

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement || is true

Options :

21052951345. 1
21052951346. 2
21052951347. 3
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21052951348. 4

Question Number : 137 Question Id : 21052913017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dogi ey fRumu g

@Y - | : 9 crylAc TYT cryllAb BRI G R1d UicH Ads 96 ®I 470 Bl & aul crylAb
HYIY S1dH (Bollworm) &1 fATH01 #3dl 8

®YH - 1| ; Bt a9 [fShg &0 § UieiRiA (Protoxin) U H Bidl & foq 9id 34 ®ic &I 3 H RUd
Y pH & daid fay H gikafdd 81 9iral 8|

IUdd Byl B e | FafRad fdwel § 9 981 ST :

1. @Y | AR 11 GFT 9 B

2. B | 3R 11 GFT T 3

3. PY 1§ &, fbg PUF 11 A B
4% 38, g e I TE R

Options :

21052951345. 1
21052951346. 2
21052951347. 3
21052951348. 4

Question Number : 138 Question Id : 21052913018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statement(s) is/are correct regarding lysosomes?

A. Heroin is obtained from the latex of poppy plant

B. Cannabinoids effect cardiovascular system of human body

C. The drug obtained from Erythroxylem coca interferes with neurotransmitter dopamine
D. Cocaine commonly called crack is chemically diacetylmorphine

E. Heroin has a potent stimulating action on central nervous system

Choose the correct answer from the options given below:

1. A B, C E Only
2. B, D Only
3.A D, EOnly
4. A B, C Only

Options :

21052951349. 1
21052951350. 2
21052951351. 3
21052951352. 4

Question Number : 138 Question Id : 21052913018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AGHIEH @ 99 H U8 Y 96l & -

3, BRI5 Oidl Uief & oiead (3d d9) § s dl &

4. BAIfeI3SY HHd TRR & 864 UREERU 1 dlfe®! dF U WHId Siadl &

. TfITSgaH SidT § W S RITHHIER (neurotransmitter) SIYMIEH U WHIG STaidl &
G. Pl &I GH: IGAR® T4 &1 SISUHICISAaRb $d (crack) Ped &

7. gRIgH | dgd Afdell Ixisid gidl & Sl heid T YUl T UHId Sl &

fau U famedt # ¥ 68l fadey g -

1. PaaH 999
2. H3AE, G
3.PadH, G T
4, HIAH,§, 9

~
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Options :

21052951349. 1
21052951350. 2
21052951351.3
21052951352. 4

Question Number : 139 Question Id : 21052913019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is required as inducer(s) for the expression of Lac operon?

1. Galactose

2. Lactose

3. Lactose and galactose
4, Glucose

Options :

21052951353. 1
21052951354. 2
21052951355. 3
21052951356. 4

Question Number : 139 Question Id : 21052913019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Mg e MR A SR P FUH JUE eldl 6 ;

A
3 Tomen

3. daei| ayl Idae i
4, DY

Options :

21052951353. 1
21052951354. 2
21052951355.3
21052951356. 4

Question Number : 140 Question Id : 21052913020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L ]
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Select the incorrect statement(s) about biodiversity

A. It increases from high to low latitudes

B. Increased biodiversity contributes to higher productivity

C. Within a region, species richness increases with increasing explored area.

D. Loss of biodiversity in a region leads to decreased variability in ecosystem processes

E. Tropical environments promote niche specialization and lead to decrease in biodiversity
Choose the correct answer from the options given below:

1. A, D only
2. B, C, D Only
3. B, Eonly
4. D, Eonly

Options :

21052951357. 1
21052951358. 2
21052951359. 3
21052951360. 4

Question Number : 140 Question Id : 21052913020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

oia fafgyar & g H -

3. I8 I U +id B 3R §gdl o

4. 3= Wafafqyd 3= Gl ardl g

Y. @il 7T &7 & d9g4 IR Sfad U=al &7 3 9gdl ol o

&. Siafdfasdl & T/ BH B R TIRIRUfd®] o wehd H fafayar vedi 21

g, 29 (Tropical) TATaRUT 1% (Niche) fa=iugal g1l & o Batawy via fafaydr gedl &
fau e famedl # § w8l faded 4 -

1. HAA A, §
2. P44 9, 94, §
3.99d4, 7
4,HddG J

~
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Options :

21052951357. 1
21052951358. 2
21052951359. 3
21052951360. 4

Question Number : 141 Question Id : 21052913021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Organic compounds that are tightly bound to enzyme protein is called
prosthetic group.

Statement lI: A complete catalytic active enzyme with its bound prosthetic group is called
apoenzyme.

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

21052951361. 1
21052951362. 2
21052951363. 3
21052951364. 4

Question Number : 141 Question Id : 21052913021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Jacl oy feumu g
DY - | :mwif@ﬂﬁl@ﬁﬂﬁﬁ@@m%ﬁm(Prosthetic)ﬂ%ﬁﬁ%l

HYF - 1| : T QU Gfehd TISH S U UIRUE® (Prosthetic) GHE ¥ 9T 8idl & UUIUSIEH
(Apoenzyme)ﬁ%’ﬁ!ﬁ"l%l

Iuled Byl b Heiie H FERkiRad fadedl H 4 §81 IR g1 -

1. BYF | 3R 1| GHf TT B

2. FYA | AR 1| GHT AT B

3. ®YF | 9 B, T Y 11 3 B
4, Y| I B, g HYF 11 I B

Options :

21052951361. 1
21052951362. 2
21052951363. 3
21052951364. 4

Question Number : 142 Question Id : 21052913022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

List | List 1l
A. Tyhoid l. Trichophyton
B. Filariasis I, Salmonella

C. Ringworms [lll. Entamoeba histolytica

D. Amoebiasis|lV. Wuchereria

Choose the correct answer from the options given below:

1. A-IV, B-l, C-lllI, D-1I
2. A-ll, B-1V, C-lll, D-I
3. A-ll, B-1IV, C-I, D-lII
4. A-ll, B-l, C-1V, D-llI

Options :

21052951365. 1
21052951366. 2
21052951367. 3
21052951368. 4
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Question Number : 142 Question Id : 21052913022 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 &I g1 -1 § gaferd Piferg :

gl -| i -1l

3, 4Igils s I, dlsmll-hlsd-i (Trichophyton)
q. BI3aRead L. GIHAMN (Salmonella)
EW-(Ringwmms) 1. Wﬂ'ﬁﬁﬁ%@ﬁm

G. HHERig V. WﬁﬂT (Wuchereria)
= feu 7t famweal & ¥ Gl IR g

1.A-IVF-1,9-1l, -1
2 H-ILd-IV,E-1Il, G-
3.H-ILFg-IV,H-1, G-
4. A-1l,d-1, -1V, -1l

Options :

21052951365. 1
21052951366. 2
21052951367. 3
21052951368. 4

Question Number : 143 Question Id : 21052913023 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a method for ex-situ conservation?

1. Botanical garden

2. Wildlife safari parks
3. National parks

4. Zoological parks

Options :

21052951369. 1
21052951370. 2
21052951371. 3
21052951372. 4

Question Number : 143 Question Id : 21052913023 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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g ™ W ot i A & 2

1. §%4fdY S9T (Botanical garden)
2. §goiid BRI (safari) Ul
3. P I

4, U0}t I

Options :

21052951369. 1
21052951370. 2
21052951371. 3
21052951372. 4

Question Number : 144 Question Id : 21052913024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following steps involved in recombinant DNA technology
A. Downstream processing

B. Insertion of recombinant DNA into host cell

C. Isolation of genetic material

D. Obtaining the foreign gene product

E. Cutting of DNA at specific locations

Choose the correct sequence of steps

1.CABDE
2CEBDA
3.AEBDC
4.C,EDBA

Options :

21052951373. 1
21052951374. 2
21052951375.3
21052951376. 4

Question Number : 144 Question Id : 21052913024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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DNA G9gi9H dd-1d & H9 4

3. §g1d @i fe=n

4. B DIRIPI § GYaiioid DNA &1 GH1aS
9. 3dRiP Ugrd &1 THA (Isolation)

<. 91841 SfiF IdIG DI UId HAT

. DNA &1 fa2y RIH | Bl

feu 7 famedl § 9 Tel fdeg 9T

1.9, 9.4 69
249,49 49 ¢ 3
334,949, ¢9°
449 49G4d 3

Options :

21052951373. 1
21052951374. 2
21052951375. 3
21052951376. 4

Question Number : 145 Question Id : 21052913025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The main criteria for Five Kingdom classification proposed by Whittaker are:

A. Thallus organization

B. Cell structure

C. Reproduction

D. Gram staining

E. Phylogenetic relationship

Choose the correct answer from the options given below:

1. A, B, D only
2. B, C, E only
3.A B, C Eonly
4. D, Eonly
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Options :

21052951377. 1
21052951378. 2
21052951379. 3
21052951380. 4

Question Number : 145 Question Id : 21052913025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fagcan Ry ufaaifed gig 9y T fieor & G YR & -

3, 4TF (Thallus) G

. DIDT YT

. T4

<. TeH T

g. dqaiig d9Y

fau ¢ famedl & 4 92 faded 9 -

1. BAAH, §, G

2. $da9, 9,7

3. P90 34,999
4. HdAG, g

Options :

21052951377. 1
21052951378, 2
21052951379, 3
21052951380. 4

Question Number : 146 Question Id : 21052913026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is the main enzyme required for transcription?

1. DNA dependent DNA polymerase
2. DNA dependent RNA polymerase
3. RNA dependent RNA polymerase
4. RNA dependent DNA polymerase

Options :
21052951381. 1
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21052951382, 2
21052951383. 3
21052951384. 4

Question Number : 146 Question Id : 21052913026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ufafeiad (Transcription) H 5% TiigH UORT AT & :

1. DNA 3THTRd DNA UIiERY
2. DNA 31e1Rd RNA TTATERY
3. RNA 3TTRd RNA T
4, RNA 3TeTRd DNA TTairERd

Options :

21052951381. 1
21052951382. 2
21052951383. 3
21052951384. 4

Question Number : 147 Question Id : 21052913027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Endosperm is completely consumed by the developing embryo in all except:

1. Pea

2. Groundnut
3. Bean

4, Castor

Options :

21052951385. 1
21052951386. 2
21052951387. 3
21052951388. 4

Question Number : 147 Question Id : 21052913027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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9Gd U YUT GRT YUIDIY BT AR fhdl Sl B ;

1. 7R

2. HITpdl
3. 39

4, 331

Options :

21052951385. 1
21052951386. 2
21052951387. 3
21052951388. 4

Question Number : 148 Question Id : 21052913028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The eye of Octopus and eye of cat show different patterns of structure, yet they perform
similar function. This is an example of

1. homologous organs that have evolved due to divergent evolution
2. analogous organs that have evolved due to convergent evolution

3. analogous organs that have evolved due to divergent evolution

4. homologous organs that have evolved due to convergent evolution

Options :

21052951389. 1
21052951390. 2
21052951391.3
21052951392. 4

Question Number : 148 Question 1d : 21052913028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aegy Yl facel & 3iE fiF UeR @1 93991 GUId & Jyiid 3 9 &4 ®3d 6| 98 3ae0 &

1. oIy 3 o1 [derg 3ogrRl fasry 9 g
2. ATEY 37 oD [dH ATHIRUTG HHAT fadra 4 ga
3. 3EU 7 oo fdmTy SuaRl fasry 9 ga
4, GG 3471 oAt faerg Sfaruiig HarTd faeg © g3

Options :
21052951389. 1
21052951390. 2
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21052951391. 3
21052951392. 4

Question Number : 149 Question Id : 21052913029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Haemophilia is more commonly seen in human males than in human females because

1. It is a X-linked recessive disease
2. A greater proportion of girls die in infancy
3. Itis a Y-linked recessive disease
4, Itis a X-linked dominant disease

Options :

21052951393. 1
21052951394. 2
21052951395. 3
21052951396. 4

Question Number : 149 Question Id : 21052913029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fedifthfern Ara TR, Argredl & qo-1 § HfUdar U Sk e :

1. 98 X-Ua¥ UHEI I 8

2. JHYHAR FMcid] 9994 H ol AL 9idl ©
3. g8 Y - U AUHIEI I B

4,98 X - oy UHIE AT 8

Options :

21052951393. 1
21052951394. 2
21052951395. 3
21052951396. 4

Question Number : 150 Question Id : 21052913030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il

A. Primary consumers |l. Top carnivore
B. Tertiary consumers  |Il. Herbivore

C. Producers IIl. Carnivore
D. Secondary consumers||V. Plants

Choose the correct answer from the options given below:

1. A-lll, B-1, C-IV, D-lI
2. A-ll, B-1, C-IV, D-llI
3. A-ll, B-lll, C-|, D-IV
4. A-lll, B-ll, C-IV, D-l

Options :

21052951397. 1
21052951398. 2
21052951399. 3
21052951400. 4

Question Number : 150 Question Id : 21052913030 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong

Marks : 1

gt -1 &l g1 -1 § gaferd Piferg :

i | -l

3, urdffe IuHia . gatd AIGRERI
g, gdig® UG I, TAMBTBRI

9. 3diGH 11, AR

. fadiad Iqyiad V. e

Hrd feu e faseal H 9 98 I AU

1.H-U,d-1,"H-1V, G-

2H-ILd-L,"9-1V,&- 1l
3H-ILE-1,9-1, G-IV
4. 34-1,9-1,9-1V, G-

Options :

21052951397. 1
21052951398. 2
21052951399. 3
21052951400. 4
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